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~“YIRD SEMESTER B.Com. DEGREE EXAMINATION, NOVEMBER 2015
(Revised)
MONETARY ECONOMICS

(Compulsory)
Comurs , [Max. Marks : 80

. All sub-questions should be answered continuously.
Answer all the three sections.
Draw diagrams wherever necessary.

Section A — (Marks : 10 x 2 = 20)
j L =-:esrany ten of the following questions:

| :  _zfine money.

Wnatis My and M2?

Derine Hyper-inflation.

- “\mat is value of money?

. 3ve the meaning of Money Market.

" at is Call money?

:  Dsfine Liquidity.

- “\hat are the liabilities of Commercial Banks?
" hat is Cheap Money Policy?

Define Reverse Repo-Rate.

- T:ind out 'P' by using Marshell's equation,
“When M = 5000 Rs., Y = Rs. 10,000 + K = 1/10
3:ve the meaning of SLR and CRR.

Section B — (Marks : 3 x 5 =15)

Answer any three of the following questions.

=:z.z:n the dynamic functions of money.

~-::-zz the causes of inflation.

=+ .2'n the role of modern banking in India.

“3’=-: a note on monetary policy.

- 22222 the open-market operation.
[PT.O.
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Section C — (Marks : 3x15=45)

Answer any three questions.
Question No. 13 is compulsory.

Discuss various functions of Money.

Critically examine the Fisher's equation of exchange.

11.

12.

13.

Explain the construction of index number of prices. Find out CPIN by using following data:
S1 No. | Commodities Price in the base year Price in the current year

1. Salt 5 Z10

2. Rice %20 260

3. Wheat T15 T30

4. Onion 320 260

5. Edible Oil 50 T 150

6. | Apple 750 7100

Discuss the defects and the regulations of Indian money.
Discuss the methods of Credit Control of RBI.

Case-Let :
Read the caselet carefully and answer the questions given below:

Assume there are five commercial banks in India viz A, B, C, D and E. The RBI has fixed
CRR at 20%. Bank "A' has received an initial deposit Rs. 30,000.

Questions :
a) What is Credit Creation?
b) Explain Primary and Secondary deposits.

c) Explain the process of credit creation by using the data given in caselet.
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THIRD SEMESTER B.Com. (Revised) DEGREE EXAMINATION, NOVEMBER 2015
' COMPUTER APPLICATION IN BUSINESS
':c T =z 3 Hours] [Max. Marks : 80

Answer all sections according to internal choice.
Question Number 12 Case Study is compulsory.

* Section — A (Marks: 10 x 2 =20)

Answer any ten questions, each carries two marks:
Define word processor with example.
o Write the short cut keys for open and save as in MS-Word 2007.

Name any 4 text/font formatting options.

What is a comment in MS-Word 20077
z Write the steps to insert a header and foqter in MS-Word 2007.
What is Drop cap?
List the various methods to create presentation in MS-Powerpoint 2007.
a1+ Define Slide transition.
Write any 4 HTML tags related to table.
1+ Explain with syntax IMG and anchor tags.
x)  Differentiate open and closed system.

i+ Expand SDLC and DFD.

Section — B (Marks: 3 x 5 =15)

Answer any three questions.
Each question carries 5 marks.

. Explain font group in MS-Word 2007.
Explain the procedure to check spelling and grammar in MS-Word 2007.
<+ Explain document view group of view tab in MS-Word 2007.
.Explain the procedure to insert a sound clip on a slide.
= Write an HTML code to create table having 3 rows and 3 columns.

Define system analysis. Explain the various activities of system analysis. PT.0
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Section — C (Marks: 3 x 15 = 45)
Answer any three questions including question number 12, which is compulsory.
Explain any 3 groups from insert tab in MS-Word 2007.
What is slide? With neat diagram explain various slide layouts in Powerpoint 2007.
Create a web page of user registration form for creating a new e-mail account using HTML cc
Explain system development tools in detail.

XYZ limited company wants to send appointment letters for newly appointed employees. Pret
their appointment letters using mail merge facility in MS-Word 2007.

Write short notes on:

a) Macros in MS-Word 2007.

b) Custom animation in MS-Powerpoint 2007.

¢) Fact finding techniques in system analysis.
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THIRD SEMESTER B.Com. (Revised) DEGREE EXAMINATION, NOVEMBER 2015
CORPORATE ACCOUNTING -1
(New)

= 3 Hours] [(Max. Marks: 80

Attempt all Sections according to internal choice.
Simple and non-programmable calculators are allowed.
Question number 13 is Compulsory.

Section — A (Marks; 10 x 2 = 20)

Answer any ten of the following:

= What do you mean by issue of shares at discount?

= Name the two important methods of public issue of shares.
What are calls-in-arrears?

= What is underwriting of shares?

= What is marked application?

What do you mean by Registered Debentures?

What are Divisible profits?

iny

= What is interim dividend?
What do you mean by profit prior to incorporation?
What is time-ratio?

= What is internal Re-construction?

If average sales for first 4 months is Rs. 60,000 and next 8 months Rs. 80,000 calculate sales
ratio.

Section — B (Marks: 3 x 5 = 15)
Answer any three of the following.

Distinguish between shares and debentures.

Star Ltd. issued 10,000 equity shares of Rs. 10 each. The issue of these shares were underwritten
as under:

P'-30%, 'Q" - 30% and 'R' 20%

However the company received the applications for 8000 shares only. Determine the liability of
underwriters. [P.T.O
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Rajat Ltd. issued 10,000, 12% debentures of Rs. 100 each. Pass journal entries in the following
cases:

a) If the debentures are redeemed at par.

b) If the debentures are redeemed at 10% premium.

What are the maximum limits of managerial remuneration when company is not having sufficient
profits?

Kiran Ltd. was incorporated on 1.5.2012 to take over the running business of Raj Ltd. from
1.1.2012. The profit and loss account for the year ended 31.12.2012 was as under.

Particulars Rs.

Gross profit 80,000
Expenses:

Salaries 24,000

Rent 8,000

Advertisement 8,000

Selling expenses 28,000

Directors fees 4,000

72,000

Profit Gross profit — Expenses 8,000

The sales ratio for pre-acquisition and post acquisition was 3:5.

Sudeep Company Ltd. decided to go in for internal reconstruction. The schemes of reconstruction ;
is as follows:

a) 10,000 equity shares of Rs. 10 each fully paid reduced to Rs. 5 each fully paid.
b) 5,000 preference shares of Rs. 10 each fully paid reduced to shares of Rs. 5 each fully paid.
¢) 100, 10% debentures of Rs. 500 each converted into 500 6% debentures of Rs. 50 each.

d) The debit balance of profit and loss account of Rs. 25,000 and preliminary expenses of
Rs. 30,000 were to be written off.

e) The value of plant and machinery and stock were written down by Rs. 15,000 and Rs. 12,000
respectively. Pass journal entries.
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Section — C (Marks: 3 x 15 =45)
Question number 13 is compulsory. Answer any two of the remaining.

<:nder Co. Ltd. issued 15,000 equity shares of Rs. 100 each payable at a premium of Rs. 20 per
-~are. The amount was payable as follows:

=.<. 20 on application

7.=. 50 on allotment (including premium)

=z. 30 on First call

~.z. 20 on Second and Final call.

"1 the shares were subscribed and the amount was duly received.

=zss the journal entries and prepare the balance sheet.

W

K. Ltd. had issued 1000 10%. Debentures of Rs. 100 each on 1.4.2008 which were redeemable
:- 5 premium on 31.3.2014. The company set up debenture redumption fund and invested the
:me in 5% Government of India bonds.

‘llowing are the balances on 31.3.2014 10% debentures account Rs. 1,00,000, Debenture
=dumption Fund Account Rs. 1,05,000. Debenture Redumption Fund Investment A/c Rs. 90,500
- 5% Government of India Bonds of the face value of Rs. 92,500)

’

oty

Zank Account (after interest receipt and payment) Rs. 2,00,000, premium on Redumption of
Tebentures Account Rs. 5,000. On 31.3.2014 Government of India Bonds were sold at 102%
:nd all the debentures were duly discharged. Show necessary ledger accounts in the books of
K. Ltd.

s

“sllowing is the trial balance of Aditi Co. Ltd. on 31.3.2014:

Particulars , Dr. Cr.

<ubscribed capital
©.00,000 shares of Rs. 20 each) 20,00,000
alls-in-arrears 30,000 -
zeneral Reserves - 80,000
Profit and Loss Alc | - 1,30,000
Bank A/c 1,42,600 -
sundry debtors 3,48,000 -
Reserve for doubtful debts - 17,400
Sundry creditors - 3,32,000
Zoodwill 80,000 -
Building 16,00,000 -
[P.T.O

o — ——
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Particulars o Cr.
Machinery PO -
Furniture e -
Depreciation - 1,32,000
Investments Dol el -
Preliminary expenses P L -
12% Debentures - 12,00,000
Outstanding interest on debentures - 56,000
Loans and Advances DT e -
Closing Stock : RO -

Total I3 4T e 39,47,400

Prepare the Balance Sheet in vertical form as per the Compar:ss A

Prakash Co. Ltd. has an authorised capital of 5,00.000 s=zr=s :Z Rs 170 each. The company
issued 1,00,000 shares for subscription to the public at a pre—:z= 7Rz 5 each.

The whole of the issue was underwritten as follows:
Mahesh - 60,000 shares (Firm underwriting 10,000 shares
Rakesh — 30,000 shares (Firm underwriting 4,000 shares
Suresh — 10,000 shares (Firm underwriting 2000 shares:

Of the total issue only 90,000 shares including firm underwrnz were subscribed for marked
applications excluding firm underwriting were as follows:

Mahesh — 32,000, Rakesh 20,000, Suresh — 8000

Calculate the liability of each underwriter giving the beneZis =7 Zrm underwriting to all
underwriters.

The following is the Balance Sheet of Vijay Ltd. on 31.3.2014:

Particulars Notes Rs.

i) Equity and Liabilities
Shareholders Fund:
Share Capital 1 12535000

Reserves and surplus 2 - 1.45.000
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Particulars Notes Rs.
Current Liabilities:
Trade payables (Creditors) - 30,000
Bank overdraft - 20,000
Total 11,55,000
1i) Assets:
Non-current assets:
Tangible fixed assets 3 1,73,000
Intangible fixed assets (Patent) - 8,50,000
Current assets:
Inventories (Stock) - 55,000
Trade Receivable (Debtors) - 76,500
Cash - 500
Total 11,55,000
Notes:
1) Share capital : Authorised Rs.
10,000 6% preference shares of Rs. 100 each 10,00,000
10,000 Equity shares of Rs. 100 each 10,00,000
Subscribed capital :
7,500 6% preference shares of Rs. 100 each fully paid 7,560,000
5,000 Equity shares of Rs. 100 each fully paid 5,00,000

2)  Reserves and Surplus:

Discount on issue of shares

Total

Profit and loss account (debit balance)

Preliminary expenses

Total

12,50,000

(-) 18,000
(-) 1,15,000
(=) 12,000
1,45,000

[P.T.O
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3) Tangible fixed assets:

Lease hold premises 1.30,800
Plant and Machinery 42.200
Total 2.73.000
The Company suffered heavy losses and was not zei:inz w<z.. 1-e following scheme of

reconstruction was adopted.

a) The preference shares be reduced to an equal number 17 720+ ta:2 shares of Rs. 50 each.

b) The equity shares be reduced to an equal number o7 72+ £2:2 szares of Rs. 25 each.

¢) The amount so available be used to write off Rs. = ..=. :I ize lease hold premises,
Rs. 15,000 off stock, 20% off plant and machinerv anc szmz= Zzfi:rs and balance available of
patents.

Pass journal entries and prepare the balance sheet after 1nz =:-msm::7 °n has been carried out.

Case study (Compulsory):

Deepak Co. Ltd., was incorporated on 1.7.2013 to take over ine z2simzss -2 Snekaras from 1.4.2013.
The following was the profit and loss account for the year emz=2 27 2 2014
Particulars ==

Gross profit NS

Expenses:

Salaries PSR
Office expenses i
Printing and Stationery U

Rent and Rates , A
Commission on sales EDSRE
Audit fees 1o
Free samples ~
Interest on debentures IR
Depreciation LR

Bad debts SO




-

7 1193 -CO01-IIISC-R -N-15

Particulars ' Rs.
Directors fees 4,000
Formation expenses 4,000
Sundry Expenses 1,600

2,92,000
Net Loss (Expenses — Gross profit) 12,000

Additional Information:

a) Bad debts upto 30.6.2013 were Rs. 800

b) Rent was paid at Rs. 400 per month

¢) Sales upto 1.7.2013 amounted to Rs. 3,20,000 and thereafter Rs. 4,80,000.

Prepare statement showing profit or loss prior to incorporation and after incorporation.
Comment on the working result of the company for the period prior to and after incorporation.
Give your opinion regarding the results of the company.

[P.T.O
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THIRD SEMESTER B.Com. (Revised) DEGREE EXAMINATION, NOVEMBER 2015
SECRETARIAL PRACTICE
Time : 3 Hours] [Max. Marks : 80
Answer all the questions subjected to the internal choice.
Question No.13 (Case Study) is compulsory.
Section A
1. Answer any ten of the following questions : (10 x 2 =20)
a) Who is a secretary? »
b) How is the first Secretary appointed?
¢) Who is a Promoter?
d)  What do you mean by “Table A'?
e) Whatis a Statutory Company?
f) Who is an additional director?
g) What is listing of shares?
h)  What is an Agenda?
1)  What are resolutions?
J) Define the term *Manager'.
k) What is Articles of Association?
) Expand the following:
1) SEBI 1) AGM.

Section B

Answer any three of the following questions. (3x5=15)
2. Distinguish between Memorandum and Articles of Association.

3. Mention the different kinds of registered companies.

4. What is a Directors' Report? Write its contents.

5. Write the qualities and qualification of Company Secretary.

6.  Who is a Managing Director? How he is appointed?

7. What are the essentials of a valid meeting?

[P.T.O.
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Section C
Question No.13 is compulsory.
Answer any two of the remaining questions.
Explain in detail duties of a Company Secretary. (2 x 15 =30)
What is Prospectus? Explain the contents of prospectus.

What is EOGM? Explain the Secretarial work before during and after the meeting.

Who is a Director? Explain the provisions of the Companies Act relating to appointment, powers
and remuneration of the Directors.

Define Public Company. Explain the stages in the formation of Public Limited Company.
CASE STUDY

Compulsory Question (3 Cases x 5 marks each = 15 marks)
a) Mr. Akash is a director of ABC Co. Ltd on the day fixed for Board Meeting he has some other

work. He has requested his wife who is a well known management consultant to attend that
meeting on his behalf. Comment.

b) Star Co Ltd is sure enough of collecting its share capital without public subscription. Can a
Public Ltd Co, collect capital privately? Should the company issue prospectus?

¢) Mr. Prakash wants to form a company for promoting sports. Advise him for formation of a
suitable company and its advantages for this line of activity.
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~=IRD SEMESTER B.Com. (Revised) DEGREE EXAMINATION, NOVEMBER 2015
BUSINESS STATISTICS
T - - - Hours] [Max. Marks : 80

Non-programmable simple calculator is allowed.

. Section — A (Marks: 10 x 2 = 20)

+-<xer any ten of the following:
State any two functions of statistics.
. What is a statistical enquiry?
Name the various parts of a statistical table.
_ State the difference between “Inclusive' class intervals and "Exclusive' class intervals.
What is a Histogram?
- Find GM for the numbers 2, 4, 8.
! - Define Quartile Deviation.
- In a distribution if Mean = 28.4, Median = 29.8, SD = 6.2, find Skewness.

Write empirical relation among Mean, Median and Mode.

.

State the various methods of sampling.
"alculate range and also its relative measure for, 10, 16, 30, 40, 70, 130, 80, 120.

" Define Skewness and mention its types.

' Section —B (Marks: 3 x 5 = 15)
. 2:oer any three of the following.

Distinguish between Primary and Secondary data and state the various sources of secondary
jata.

" . Represent the following data by a suitable bar diagram.

Faculty 2013-14 2014-15
p Arts 120 100

Science 135 125

Commerce 140 110

T Given that AM is equal to 7.3, find the missing frequency in the following data.

x | 5 6 7 8 9
f 4 6 12 ? 8

[P.T.O
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16. Prepare a frequency table for the following data by taking suitable class-intervals.
18 10 1214 17 8 20 22 7 25
24 17 1820 20 30 25 27 29 8
15 6 1010 20 20 22 19 18 9
10 7 2122 27 16 10 32 35 8

“* 17. We are given the following information

i) Country: A, B, C and D ii) Employment: Employed and Unemploved

iii) Years: 2010 and 2012. Put the above information in a tabular form.
18. Find the values of coefficient of variations in the following cases:

1)SD =3.5,n=10, Zx = 145

ii) Variance = 148.6, Mean = 40.

Section — C (Marks: 3 x 15 = 45)

1. Answer any three questions of which question No. 24. Case study analysis is compulsory.

19. Calculate the Mean and coefficient of variation of the following frequency distribution:

Weekly wages No. of workers
More than 40 140
more than 45 127
more than 50 112
more than 55 89
more than 60 61
more than 65 36
more than 70 17

920. Calculate MD from (i) Median (ii) Mode and find also its relative measure in each case:

X : 40-50  50-60 60-70 70-80 80-90 90-100 |

|
£ 5 10 20 25 15 5 |
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Draw two types of Ogive Curve to the following data and hence for median:

t_lasses

35-39

40-44

45-49

50-54

55-59

“requencies

17

25

35

23

16

=rom the data given below calculate Karl Pearson's Coefficient of Skewness and interpret

our result.
Weight (Ibs) 90-100 100-110 | 110-120 | 120-130{130-140|140-150 | 150-160
No of students 4 2 18 11 8 5 2

Define the terms : i) Deciles ii) Percentiles:
o Find D, and P for the following data:
| CI 5-10 10-15 | 15-20 | 20-25 | 25-30 | 30-35 | 35-40
f 2 5 8 10 11 3 1
- (ase Study Analysis:
The following facts gathered before and after an industrial dispute:
Before dispute | After dispute

No. of workers employed 515 509
Mean Wages 49.60 52.75
Median Wages 52.80 50.00
Variance Wages 121.00 144.00

Compare the position before and after the dispute in respect of i) total wages ii) Modal
wages ii1) Standard Deviation iv) Skewness.

[P.T.O
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THIRD SEMESTER B.Com. (Revised) DEGREE EXAMINATION, NOVEMBER 2015
COMMERCIAL ARITHMETIC
= 3 Hours] [Max. Marks : 80

Mathematical tables will be supplied on request.
Simple Calculator is allowed.

Section — A (Marks: 10 x 2 = 20)

Answer any ten of the following.
21202 2=0.3010 and log 5 = 0.6990, find the value of log 10 without using log tables.
F:nd 3% of 25% of 50,000.
Explain profit with an example.

An agent sold goods worth Rs. 25,000. If the agent charges 2% commission, find the amount
recelved by the merchant.

Marked price of an article is Rs. 2000. Find the net price if Trade Discount is 5%.
Define depreciation.

Explain direct proportion.

Find the value of x,if 2:3 =10 : x.

What is instalment buying?

explain Effective Rate of compound interest.

At what rate of S.I. a sum of money doubles in 10 years?

Define immediate annuity.

Section — B (Marks: 3 x 5 =15)
Answer any three of the following.

Z3. A person borrows 2 equal sums of money at the same time. One at 5% and the other at 7% p.a.

=.I1. At the end of 5 years the difference between the interest on the 2 sums is Rs. 500. Find the
total amount borrowed by him.

A gets salary 20% more than that of B but 25% less than that of C. If C's salary is Rs. 54,000, find
B s zalary.

An article was sold for Rs. 360 to gain 20%. For what price should it be sold to gain 25%?

A person invests Rs. 1000 at the end of each year at 5% p.a. C.I. How much would he get back at
the end of 10 years?

2 men can do a piece of work in 90 days. How many more men would be required to do it in 50 days?

An agent buys an article for Rs. 10,000 and marks it 20% above cost. Find the percentage profit
or loss if he sells it allowing 10% trade discount and 5% cash discount.

[P.T.O
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Section - C (Marks: 3 x 15 = 45)

Answer any three of the following.

Mahendra purchased a machine costing Rs. 1,50,000. It depreciates at 10% p.a. by DBN.
What will be its value after 5 years?
The cash price of an article is Rs. 12,000. But Vaishnavi purchases the same on the follow
conditions.
i) Rs. 4000 cash down at the time of purchase.
ii) 9 monthly instalments of Rs. 1000 each.

Find the rate of S.I. paid by the customer.

A certain sum of money amounts to Rs. 1210 in 2 years and to Rs. 1464.10 in 4 year:
compound interest. Find the sum and rate of interest.

A borrowed Rs. 7,500 from B for 10 years at C.I. Rate of interest is 3% for the first tk
years, 4% for the next 3 years and 5% for the last 4 years. Find the amount he wil
required to repay to settle the account with B.

An article worth Rs. 15,000 is purchased on instalment plan under which 5 equal anr
instalments including C.I. at 10% p.a. are payable. Find the amount of annual paymen

Using log table find the value of

12025 x 650

565x225 °

An article was sold at a loss of 20%. If it was bought for Rs. 40 more anc s.cor Rs. 80«
there would have been neither loss nor gain. Find the C.P. of the articie.
The price of petrol is increased by 25%. So a person reduced his consumption by 25%. V
percentage is the rise or fall in the expenditure incurred by him oz petrs.”
The value of a land is divided among A and B in the ratio 4:5. B and C in tne ratio 9516. 1

value of the land is Rs. 96,600, find the share of each.

A merchant earns 6% profit by selling an article costing Rs. 30,00k IZ ne nas allowed t
discount of 20% and cash discount of 5%, how much above cost he has —arxed the articl

An agent charges 9% commission on cash sales and 5% commissi:z tz crecit sales. 1
average return is 7.5% on the total sales, find the ratio of cash sa’es w5 creai: sales.
In a 1000 metre race A beats B by 200 m, C beats B by 100 m anc D o=z C by 200 n

how many metres will D beat A in the same race?
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THIRD SEMESTER B.Com. DEGREE EXAMINATION, NOVEMBER 2016

PRINCIPLES OF MARKETING

T.—=: 3 Hours]

All sections are compulsory.
Q. 13 is compulsory.

Section A — (Marks : 10 x 2 = 20)

Answer any ten of the following:

What is Market?

What is concentration?

What is Market Segmentation?
What is Niche Marketing?
What is Product Life Cycle?
What is Packaging?

What is Re-Marketing?

What is Sales Promotion?
What is a Brand?

What is direct marketing?
What is Psychological Pricing?

Mention any two types of channels of distribution.

Section B — (Marks : 3 x 5 = 15)
Answer any three of the following.

. Distinguish between market and marketing.

Explain the benefits of Market Segmentation.

+  Explain the functions of Packaging.

State the essentials of good advertisement.

< Explain the objectives of Sales Promotion.

Explain the importance of Pricing.

[Max. Marks : 80

[PT.O.
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Section C — (Marks : 3 x 15 = 45)
Answer any three of the following including Q. No. 13 which is compulsory.

What is marketing ? Explain the functions of Marketing.

Discuss the stages in the Product Life Cycle.

Explain the advantages and limitations of branding.

Describe the factors influencing the selection of the channels of distribution.
Explain the factors affecting pricing decisions.

Case Study
(Compulsory)

Assume that you have developed a water-purifier which is low-priced and more efficient than
the existing products in the market. As a marketing manager of the company suggest the suitable
measures to be taken to create demand and capture a good market share.
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THIRD SEMESTER B.Com. DEGREE EXAMINATION, NOVEMBER 2016
MONETARY ECONOMICS (Revised)
T =+ 3 Hours] [Max. Marks : 80
All sub questions should be answered continuously.
Answer all the three sections.
. Section - A (Marks: 10 x 2 = 20)

Answer any ten of the following questions:

= Define Barter System.

- What is full-bodied coin?
What is Index Number?
Expand CPIN.
- IfM = Rs. 30,000, V = 5 and T = 20,000 units find out 'P".

$d.

Mention any two usefulness of Index Numbers.

What is demand pull inflation?

43

=~ What do you mean by inflationary gap?
What is Capital Market?
Expand NBFI.

< What is dear money?

Name the present Governor of RBL.

Section - B (Marks: 3 x 5 = 15)
Answer any three of the following.

. Explain the supply of money concepts. M, M,, M, & M)).
Explain the measures to control Inflation.

. Discuss the defects of money market.

Explain the functions of Commercial Banks.

- Discuss the selective credit control measures of Central Bank.

Write a note on Open Market Operations.

[P.T.O
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Section - C (Marks: 3 x 15 = 45

Answer any three questions. Question No. 13 is compulsory.

8. Define money. Explain the different functions of monev.

9. Critically examine Cambridge Equation of Exchange.

10. Explain the construction of Index Number of Prices. Find out CPIN by using following data:

SI. No.| Commodities Price in the Price in the
Base Year Current Year

(Rs.) ‘Rs.i

1 Rice 30 50

2 Cloth 25 10

3 Oil 35 90

4 Milk 15 30

5 House Rent 500 1000

11. Mention the causes and effects of Inflation.

12. Explain the different functions of R.B.L.

13. Case-Let:

Assume that there are 4 commercial banks in India. Viz. A. B. C & D. The RBI has the CR}
10%. A Bank has received an initial deposit of Rs. 20.000.

Questions:

a) Explain the process of Credit Creation.
b) What is liabilities & Assets?

¢) What are the limitations of Credit Creation?
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~HIRD SEMESTER B.Com. (Revised) DEGREE EXAMINATION, NOVEMBER 2016
HUMAN RESOURCE MANAGEMENT
Paper I
T -- : Hours] [Max. Marks : 80

Answer all questions according to internal choice.
Question No.13 (Case Study) is compulsory.

Section A

~~=wer any ten of the following questions: 10x2=20

What is HR Planning?
- What is Placement?

State any 4 qualities of HR Manager.
= What is Job Analysis?
- What is Interview?

Name any four internal sources of recruitment.
- What is Refresher Training?
- What is Separation?

What is Promotion?

What is on-the-job training?

What is incentive?

What is Profit-Sharing?

Section B

Answer any three of the following.
_ “i-at are the operative functions of HRM? 3xb=15
“i~at are the objectives of Induction?
. “i-at is Demotion? State the causes of Demotion.
"\ nat are the components of compensation?
- S-are the objectives of training.

<-ate the essentials of effective appraisal system.
[P.T.O.
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Section C

Answer any three of the following, including Question 13, which is compulsor.
Explain the functions of HRM. 3 =
What are the stages involved in selection process? Explain.
What are the advantages of training to the employer and employees?
What is Performance Appraisal? Explain its objectives.
What is Compensation Management? Explain the factors affecting wage and salary svs
Case Study:

a) Submit a resume for the Post of Manager in Naveen Company Ltd.

b)  Two Managers posts are vacant in Parikshit Company Ltd. Company wants to fi
vacancies which source of recruitment do you recommend to fill these vacancies? Give )

¢) Chaitanya wants to commence furniture industry in his native place, which method
payment do you suggest? And why?
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THIRD SEMESTER B.Com. (Revised) DEGREE EXAMINATION, NOVEMBER 2016
COMPUTER APPLICATION IN BUSINESS
Paper 11
" ~=:3 Hours] [Max. Marks : 80

Answer all Sections according to internal choice.
. Question No. 12 i.e. Case Study is compulsory.

Section A - (Marks : 10 x 2 = 20)
Answer any ten of the following questions, each carries 2 marks.
a.  What is Paste Special?
b1 What is Superscript?

Write the Shortcut Key for Font increase & decrease.

(]

d-  What is Drop Cap?
=  What is document map?
What is layout?

What is an Animation?

£ 181

What are the uses of Power Point?

vy

Define Slide transition.
Who developed HTML?
%' Define System.

What do you meant by System analysis?

Section B — (Marks : 3 x 5 = 15)
Answer any three questions, each carries 5 marks.
- Explain the advantages of MS-Word 2007.
Explain the steps to insert row & columns in MS-Word 2007.
- What is alignment? Explain the different types of Alignment.
: Explain the features & facilities of MS-Power Point 2007.

- What is Frame? Explain any 4 Frame tags.

Define System Analysis. Explain the various activities of System Analysis.
(P.T.O.
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Section C — (Marks : 3 x 15 = 45)
Answer any three questions, including
Question No. 12 which is Compulsory.
Each question carries 15 marks.

Explain any 3 groups from Home tab in MS-Word 2007.
Explain presentation views & show/hide groups from View tab in MS-Power Point 200
Write HTML code to prepare application for Job Form.

Explain the elements of System.

Assume that you are working in INSPIRE Business Limited. Your MD organised hi:
Birthday Party in office and insisted you to send birthday party invitation to all empl
of your company. Prepare the invitation & send it using mail merge facility in MS-
2007.

Write a short note on :

a) Change case in MS-Word 2007

b) Disadvantages & advantages of MS-Power Point 2007.

¢) Data Flow Diagram (DFD)
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THIRD SEMESTER B.Com. (Revised) DEGREE EXAMINATION, NOVEMBER 2016

SECRETARIAL PRACTICE
e : 3 Hours] [Max. Marks : 80
Answer all the questions subject to the internal choice.
Question No.13 (Case Study) is compulsory.
Section A — (Marks : 10 x 2 = 20)
Answer any ten of the following questions:
a' Who is a 'Protem' Secretary?
b1 Who is a Routine Secretary?
¢ What is Minimum Subscription?
d'  State the stages involved in the formation of a Public Company.
e'  What are Ultra Vires Acts?
f'+ Define the term Prospectus.
g’ What is Quorum?
h'  Who is a Proxy?
1" Who is an Alternate Director?
J ' Write the definition of Managing Director.
k) What is Statutory Meeting?
I' Expand: i) FEMA ii) EOGM.
Section B - (Marks: 3 x 5 = 15)
Answer any three of the following questions.
Examine the Contractual Liabilities of a Company Secretary.
Give a list of privileges and exemptions enjoyed by a Private Company.
What are Articles? What are the Restrictions for its alteration?
Distinguish between Director and Managing Director.
Define the term Resolution and explain its types.
What are Minutes? What are the Hints for writing Minutes?
[P.T.O.
——— ———— S —
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Section C — (Marks : 2 x 15 = 30)
Question No.13 is compulsory.
Answer any two of the remaining questions.

8. Who is a Company Secretary? Bring out his qualifications and Qualities.

9. What is a Company? State and explain its features.

10. Who are Directors? What are their Powers, Duties and Liabilities?
11. Define Memorandum and describe its Clauses.

12. What is a Meeting? Explain various methods of ascertaining the sense of a Meeting.

CASE STUDY
Compulsory Question (3 Cases x 5 marks each = 15 Marks)

13. a) A company, with a paid-up capital of Rs. 12 crores, has 3 Directors, namely X, Y and Z. 7 1
also a Chartered Accountant. Company appoints Z as a Company Secretary. Is 2
appointment valid? Give reasons.

b) Godrej Company Ltd with its Registered Office in Mumbai decided to hold its Extra ordinz=
General Meeting at Pune on Sunday. Is the decision correct? Support your answer Wi
reasons.

¢) Mr. Sunil a PUC passed person. is a Director of Lux Company Ltd. The shareholders of ::
company, by altering articles. made it compulsory that the Director should be a Graduzi
So, Sunil is asked to step down. Whether Sunil should step down? Please advice.
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THIRD SEMESTER B.Com. DEGREE EXAMINATION, NOVEMBER 2016

BUSINESS STATISTICS
(Revised)
T == 3 Hours] [Max. Marks : 80
Non-programmable simple calculator is allowed.

Section A — (Marks: 10 x 2 = 20)

Answer any ten of the following:
_. State any two limitations of statistics.
~. Define Primary and Secondary data.
What are the different stages of statistical investigation?
< Name the two dimensional diagrams known to you.
What are the different types of classification?
2 if Sx =2550, n = 50, find Mean (X).
- Define Tabulation.
et ~. Which average is used to determine the average size of the shoe sold in a shop?
= For a frequency distribution Mean = 62, Median = 65, find Mode?
S 21, Define Mean Deviation from Median.
_1. Define Positive Skewness and Negative Skewness.
T~ 22, Define Geometric Mean and write its formula.
- Section B — (Marks: 3 x 5 = 15)
Answer any three of the following:

23. What are the different part of the Table? Give the specimen of the Table.

24. Prepare a frequency distribution for the following data taking 10 as width of the class interva:
using exclusive method.

33 23 25 10 18 35 37 49 54 51
37 15 33 42 45 59 29 35 65 45
46 29 18 37 46 47 55 69 27 63

~5. Draw Histogram and frequency Polygon from the following data:
ClL.: 0-10 10-20 20-30 30-40 40-50 50-60
f: 8 12 18 24 16 10

16, Calculate Median and Mode from the following data:
X: 20 21 22 23 24 25 26 27 28

f: 8 10 11 21 20 25 15 9 6 -
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17. Mean wage of 60 workers working in a factory is Rs. 40 and Mean wage of 40 workers ir
another factory is Rs. 35, find combined A. M.

18. For a distribution Mean = 65, Median = 70and S.D =

1) Coefficient of Variation.

~J

5. find

1) Coefficient of Skewness.
Section C - (Marks: 3 x 15=45
III. Answer any three questions of which Question No. 24 i< compulsory.
19. Calculate Mean, Median and Mode for the following data:
CI: 50-60  60-70  70-80 80-90 90-100 100-110 110-120  120-130 130-140
f: 4 6 10 15 22 20 10 8 5
20. a) Define Partition Values and what are the different Partition Values.
b) Calculate Q,, D, and P70 for the following data:
CI: 100-110 110-120 120-130 130-140 140-150 150-160 160-170 170-180
f: 10 18 24 32 26 16 8 6
21. Calculate MD from Mean and Mode from the following data:
CI: 0-10 10-20 20-30 30-40  40-50 50-60 60-70
f: 3 6 9 13 8 7 4
22. Find Karl Pearson’s coefficient of Skewness from the following data:
CI: 1020 20-30 30-40  40-50 50-60 60-70 70-80

f: 4 10 16 30 20 14 6
23. Find S.D and coefficient of variation for the following data:

Marks No. of students

More than 10 54

More than 20 48

More than 30 38

More than 40 20

More than 50 10

More than 60 4

24. Case Study:
Following are the runs scored by two batsman A and B in 5 innings:
A:r 14 9 8 5 4
B: 7 9 6 5 3
Find: a) Who is better run getter?

b) Who is more consistent?

-
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THIRD SEMESTER B.Com. (Revised) DEGREE EXAMINATION, NOVEMBER 2016

COMMERCIAL ARITHMETIC

T _—=: 3 Hours] [Max. Marks: 80

Mathematical tables will be supplied on request.
Sitmple calculator are allowed.

Section A — (Marks : 10 x 2 = 20)

Answer any ten of the following:

16.

17.

18.

If log 3 =10.4771 and log 5 = 0.6990, find log 15 without using log tables.

In what period will Rs. 400 amounts to Rs. 520 at 6% p.a. Simple Interest.
What is the difference between simple and compound interest?

What is installment buying?

Define depreciation.

Define annuity due.

Define proportion.

If 20% of x = 3, find the value of 5x.

Who is a Del Creder agent?

Define discount.

. Find 10% of 5% of 25,000
2. If 4:x = 10:15, find the value of x.

Section B - (Marks: 3 x5 = 15)

Answer any three from the following.

. The difference between simple interests of certain sum of money at 9% p.a. for 10 years

and at 7.5% p.a.for 4 years is Rs. 150, find the Sum.

. A washing machine costing Rs.13,200 was sold on installment basis to be paid in 9 monthly

insallments of Rs.1500 each, find the rate of interest charged.

. 15% of Rahul's income is greater than 27% of Rohit’s income by Rs. 80 and sum of their

incomes is Rs.9000, find incomes of Rahul and Rohit.

If an article sold for Rs.25,000 incurred a loss of 20%, at what price should it be sold to
earn a profit of 20%.

A trader buys an article for Rs.30,000 and marks it 15% above the cost. Find the percentage
profit or loss if he sells it with 10% trade discount and 5% cash discount.

90 men can do a piece of work in 60 days. How many more men would be required to do
it in 45 days?

[P.T.O.
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20.

21.

22.

23.

24.
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Section C - Marks : 3 x 15 = 45)
Answer any three of the following.

\69.45%0.7285

30.83x0.0362

oy

Find the value of using logarithm table.

A machine worth Rs. 3,00,000 is purchased on instlalment plan in which 6 equal annua
instalments including compound interest at 5% are payable. Find the amount of eac:
annual installment. -

A sum of money put out at compound interest amounts to Rs. 900 at the end of the firs:
year and to Rs. 940.5 at the end of the second vear. Find he sum and rate of interest. >

Find the sum borrowed at compound interest if a person pays on amount of Rs. 45,000 a:
the end of 5 years, the interest being charged at 4% p.a. for the first year, 5% p.a. for ths
next two years and 6% p.a. for the subsequent vears. N

A machine costing Rs. 3,00,000 depeciates at 5% p.a. by diminishing balance methos
What will be its value after 8 years? -

The cash price of a computer is Rs. 25,000. Sachin purchases it on the following conditions:
i) Rs. 5,000 cash down at the time of purchase.
ii) 10 monthly installments of Rs. 2500 each.

Two sums of money differing by Rs.20,000 are loaned out. the larger at 8% p.a. SI and tk2
smaller at 10% p.a.SI. If the difference between amounts is Rs. 21,200 at the end of 3
years, find the sums lent at each rate. 3

A person invests Rs. 5000 at the end of each year at 5% p.a. compound interest. H-3

much would he get back at the end of 10 years? i

The monthly incomes of A and B are in the ratio 9:7 and that of B and C are in the raw
3:2. If 10% A’s income exceeds 15% of C's income by Rs. 27, find B’s income. :

A furniture dealer receives Rs. 1587.6 for a dozen chairs after allowing trade discount ¢
10%and cash discount of 2% for each chair. What iz the marked price of a chair?

An agent charges 2.5% commission on cash sales and 4.5% on credit sales and theret
earns 3%% on the total sales. If cash sales are Rs. 43.000. find credit sales.

A & B can do a work in 12 days, B & Cin 15 days and A & C in 20 days. In how many da
they complete the work all together.

|

Find the rate of interest paid by Sachin. S
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THIRD SEMESTER B.Com. DEGREE EXAMINATION, NOVEMBER 2016
CORPORATE ACCOUNTING -1
Paper I (Revised)

Attempt all the Sections as per internal choice.
Simple calculators are allowed to be used.
Question number 13 is Compulsory.

Section A — (Marks : 10 x 2 = 20)

Answer any ten questions of the following:

a)
b)
c)
d)
e)
f)
g
h)
i)

J)

k)
1)

What is book-building method of issue of shares?

What are bonus shares?

What are rights shares?

What do you mean by underwriting of shares and debentures?
What are redeemable debentures?

Write any two differences between shares and debentures.
What are divisible profits?

What is interim dividend? Who declares it?

What is profit prior to incorporation?

Give four examples of expenses chargeable after incorporation.
What is alteration of Share Capital?

What are the types of reconstruction?

Section B - (Marks: 3 x5 =15)

Answer any three questions from the following.

80

Shri Sai Ltd. purchases as investment on 1-10-2015, Rs. 20,000 worth of its own 12% debentures
of Rs.100 each at Rs.98, the date of payment of interest being 30th June and 31st December.
You are required to pass the journal entries if the purchase price is :

a)

Ex-interest b) Cum-interest

(P.T.O.
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Following is the Capital Structure of Sai Ltd:-
Authorised Capital :

10,000 equity shares of Rs. 10 each

Issued and Subscribed Capital :

8,000 equity shares of Rs. 10 each - Rs.8 paid

Reserves and Surplus

Capital Reserve realised in cash
General Reserve

Share premium realised in cash

-

2194 -CO01-IIISC-R-N-16 |

Rs.
1,00,000

64,000
5,000

8,000
3,000

Sai Ltd. decided to convert partly paid shares into fully paid shares by means of issue of
bonus shares. For this purpose, final call Rs. 2 per share made. All the reserves are used

to issue of bonus shares. Pass the necessary entries.

From the following information, prepare Statement of Profit and Loss for the year ending

31.03.2016:
a) Revenue from operations
b) Other income
¢) Total expenses
d) Tax expenses

Rs. 25,00,000
Rs. 1,00,000
Rs. 20,00,000
Rs. 50,000

The Vishruta Ltd. was incorporated on 1-5-2015 to take over the business of Vishal Co.Ltd. as
going concern as from 1-1-2015. From the following figures relating to the year ending
31-12-2015, find out the profit earned before and after incorporation.

Particulars Rs.
Gross Profit 1,00,000
Expenses
Rent and Rates 12,000
Insurance 2,000
Salaries 30,000
Directors fees 4,000
Interest on loan 3,000
Commission 5,000
Advertisement 3,000
Carriage 2,000
Bad debts 1,000
Preliminary expenses 5,000
Net profit for the year (G.P. - Expenses) 67,000

Total sales for the year ending 31-12-2015 was Rs. 2,50,000 divided into Rs.50,000 for the
period upto 1-5-2015 and Rs. 2,00,000 for the remaining period.
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Badluck Co. Ltd. decided to go in for internal reconstruction which was approved by the
Court. The Scheme of reconstruction is as follows:

a)
b)

c)

1,0,000 equity shares of Rs.10 each fully paid be reduced by Rs. 7 per share.
20,000 preference shares of Rs.100 each fully paid be reduced by Rs.20 per share.

The reduction amount of share capital is utilised to write off the accumulated loss balance
of Rs.3,60,000; preliminary expenses of Rs.1,00,000 and balance is used to write off the
patents.

Pass the journal entries to give effect to the above Scheme.

Write the maximum managerial remuneration payable to different categories of managerial
personnel where the Company is having adequate profits.

Section C — (Marks : 3 x 15 = 45)
Question No.13 is compulsory.

Answer any two of the remaining.

Anusha Co.Ltd. issued 2,00,000 shares of Rs.100 each. They were underwritten as

follows:

Mr. X - 1,20,000 shares
Mr.Y - 50,000 shares
Mr.Z - 30,000 shares

The underwriters made applications for ‘firm’ underwriting as follows:

Mr. X - 16,000 shares
Mr. Y - 20,000 shares
Mr. Z - 6,000 shares

The total applications excluding firm underwriting but including marked applications were
for 1,00,000 shares.

The marked applications were:

Mr. X - 20,000 shares
Mr.Y - 25,000 shares
Mr.Z - 10,000 shares

Determine the liability of underwriters assuming that the benefit of firm underwriting
is given to underwriters and unmarked applications are distributed in the gross liability
ratio.

[P.T.O.
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Arpita Co.Ltd. issued 4000 8% Debentures of Rs.100 each at a discount of 10% payable as
follows:

Rs. 20 on Application
Rs. 20 on Allotment
Rs. 50 on First and Final Call
All the debentures were subscribed and the money was duly received.

Pass the journal entries and show the ledger accounts and also prepare the balance sheet.

. Amogh Co.Ltd. issued 10,000 equity shares of Rs.100 each at 10% premium and 20,000
preference shares of Rs.10 each at 10% discount. The amount was payable as under:

Particulars Equity Preference
shares shares

On Application (Rs.) 30 3

On Allotment (Rs.) 40 2

On First and Final Call (Rs.) 40 4

Pass the journal entries.

From the following ledger balances of Aditi Co. Ltd. and additional information given below,
prepare the Statement of Profit and Loss for the year ending 31-3-2016 along with relevant
notes to accounts:

Name of Accounts Dr.(Rs.) Cr.(Rs.)
a) Sale of goods - 48,00,000
b)  Sale of services - 1,80,000
¢)  Other operating income - 1,20,000
d) Excise duty / Service tax 1,50,000 -
e) Interest income - 45,000
f) Dividend income - 30,000
g)  Other non-operative income - 9,000
h) Net gain on sale of investment - 6,000
i) Opening stock of raw materials 1,12,500 -
j) Purchase of raw materials 41,32,500 -
k)  Purchase of stock-in-trade 21,000 -
D Opening stock of finished goods 1,50,000 -
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Name of Accounts Dr.(Rs.) Cr.(Rs.)
m) Opening stock of work-in-progress 2,38,500 -
n)  Opening stock of stock-in-trade 18,000 -
o)  Salaries and wages 1,20,000 -
p)  Contribution to provident fund 15,000 -
q)  Staff welfare expenses 24,000 -
T) Interest expenses 30,000 -
s)  Other borrowing costs 9,000 -
t) Power and fuel 90,000 -
u)  Rates and taxes 30,000 -
v)  Insurance 15,000 -
w) Travelling expenses 60,000
x)  Payments to auditors 75,000
y)  Current tax expenses 76,500
z)  Deferred tax expenses 9,000

Total 53,76,000 51,90,000

Additional Information:

a)

b)

The closing stock of raw materials, goods etc is valued on 31-3-2016 as under :

i)
11)
1ii)

iv)

Raw materials Rs. 1,20,000
Finished goods Rs. 1,35,000
Work-in-progress Rs. 2,70,000

Stock-in-trade Rs. 15,000

Provide depreciation Rs. 37,500 on building, Rs. 3,000 on furniture and fixtures and
Rs.13,500 on the trademarks.

[P.T.O.
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Malatesh Co.Ltd. was incorporated on 1-4-2015 to take over the business of Akshay Co.Ltd.
as from 1-1-2015. Balances extracted for the year ending 31-12-2015 were as follows :

Particulars

Rs.

Gross Profit

Expenses

Salaries and wages
Rent and Rates

Office expenses
Commission on Sales
Advertisement

Audit fees
Depreciation

Interest on debentures
Directors fees
Printing and stationery

Bad debts

Net Loss (Expenses - Gross Profit)

70,000

36,000
1,800
12,000
8,000
2,000
1,000
4,000
3,000
2,000
2,400

800

73,000

3,000

Additional Information:

a) Sales for the first three months Rs. 80,000 and Rs. 1,20,000 for the next nine months.

b) Rent was paid Rs.100 per month

¢) Bad debt include Rs.200 up to 31-3-2015.

Prepare the Statement showing profit or loss prior to and after incorporation.
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13. CASE STUDY (Compulsory)

Following is the Statement of Assets and Liabilities (Balance Sheet) of Ever green Ltd. as on

31-03-2015:
Particulars Note Rs.
I  Equity and Liabilities
. Shareholders funds:  Share Capital 1 10,00,000
Reserves & Surplus 2 (-)1,00,000
Current liabilities Creditors - 7,00,000
Total 16,00,000
IT Assets
Non-current Assets Tangible fixed assets (Machinery) - 10,00,000
Intangible fixed assets (Goodwill) - 2,00,000
Current Assets Inventories (Stock) - 3,90,000
Cash and Cash equivalents (Cash) - 10,000
Total 16,00,000
Notes Rs.

1. Share Capital

1,00,000 equity shares of Rs. 10 each 10,00,000
2. Reserves and Surplus

Profit and Loss ACcount (Loss) (-) 1,00,000

Draft a suitable scheme for reduction of capital which would help the Company to re-organise
on the following lines:

a) To write off loss balance and goodwill completely.

b) To depreciate machinery by 10%.
¢) To reduce the value of stock to Rs. 2,90,000

Also give journal entries to implement the Scheme and draft the balance sheet.
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TU3HcH cdrenSodn 83 FENTeSTHTR.
a) 1,00,000 TRRT, Be3oned B Je0rt TR, 10 Tog Fomommwnty, T Jeort 5. 7 JoF QORI

by 20,000 SIS FTONT B& Feort B, 100 o8 FomoseNasy, T Feort Se. 20 elecietionioveral
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¢) Jelo womme ( ):3?,53 mg:ﬁ&q 5@@@3 L dTy TR, 8,60,000, =000 S

TR. 1,00,000 Tk Ve by, x%d% I 3RS TFew wTodeenTLIeR.

81 30005 odpeSonR) TordRTE 30w dre TRRSNTRY, LBCD.
BOTICD BT WP BB o3 TTREITI BLODWN, B VT FITTT T[T 2230008507 Zommodd
SIREWTTRT NOF BRROT TITBMTR) 2050000,
QRN § (Marks : 3 x 15 = 45)
T 13 Fre0d.
SIS eFeEoeT HTRE, vI020,

LTOR BC. HOIET TR. 100 T 2,00,000 a”edamfda QT DREBT. &3 3TN umz:n@cmzb =t et~ tor
gricdedoend

5¢ X — 1,20,000 3eTonishd

22 Y - 50,000 3eTonsd

&¢ 7 — 30,000 Je3oned

2830 8RS YOSFTo ‘Réwé’ (firm) aswam@@oﬁaa‘% 3 3FNT03 Cigtasticllalapiel
3¢ X ~ 16,000 JeToned

3¢ Y — 20,000 3eonshd

&¢ Z ~ 6,000 JeTonsd

082 mm@oojﬁi BRTBL TR, PORITT m@mmgmmog 2,833, 1,00,000 Setonemon

pE

WM WONT. LRNYE BRoDT e e 33 FPNT083.

o

[P.T.O.
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a¢ X — 20,000 SeTonehd
$e Y — 25,000 3eTonsd

3¢ Z - 10,000 Jeonisd

253 wLRDOD oyiRs) 360D G0R3mR00N QR S0 BREMOFCIR) 0T &R0, FNT BROLTT

BeNTR 1t BARBMOT L2[0T3TE,_ DBOD.

BLEBD BO. VORI, TR, 100 w3208033030 4,000 8% T ﬁgﬁ%ﬁ&; 10% AReBOO, LBORCROWE:.
Y V3T sad& FPNT0S ereIeso.

el w¥edn de. 20

ToLECIRT FoIT TR, 20

TER0 [0y o3 IS Foedn SR, 50

DR, TOTGRIR), WRFRIFX IRRER0B Bed T8 BRETI.

35 Feomor0nen dee mSNYR) WO W8y BRFT HBRYR) Torin wEed BFODIT =

wBRep J0DD0T) TR, 100 Fo20e3S0 10,000 BT, éed)rﬁ%ﬁ& 10% 60T 0B Tai
T, 10 Booade3go 20,000 TBFT FeANTR, 10% AReBROD0E LBOICROWE. FeTOY TEITL =
3FNTeZ TTE BRELIEBL.

&30 OB, TIRT
Fedonisd Fedonss

92203 2R3k (dra) 30
Bowdoinmen (dra.) 40
THR SFY ©od> TN (TR.) 40

Sre m@b@ﬁﬁ%ﬁ&q 22300.
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ZO& 3. Q0BT 0BT B G 503 éenari@:fod TR B9 Lo tshT TUT SERLNY TBeH 00T,

31-3-1016 T dmro%éﬁ CoYP~ToR wgsmsi Tonw eﬁﬁi OO LTeNTRoOR BoindRE.

cﬁiid TATO DF ( d@.) BEI? ( d@)
a) XOI O - 48,00,000
b) ZegdeH 2 - 1,80,000
¢) 3BT TODFNLOT 50030 ~ 1,20,000
d) 28 22 83 [ Feewo Bon 1,50,000 -
e) W& eSmeDh - 45,000
f) eyl smood - 30,000
g) 338 T ARFBE0%3 o - 9,000
h) @Rend Snoosded QTG neg - 6,000
i) '-staw TUINAS $T0F éexg 1,12,500 -
j 5@3@5&@7{@# 00e 41,32,500 -
k) SRE0 3OS Doed 21,000 -
D A% 308 es0od LIS 1,50,000 -
m) T BRECHOYTOT IS 55008 den 2,38,000 -
n) TRTO ITEI 00T CSH] 18,000 -
0) FeET DI 8O 1,20,000 -
p) zﬁxags QR Deedrt 15,000 -
q) TPTIC I T Segrishy 24,000 -
) WBMmA ﬁziﬁe}o 30,000 —
s) 233 e Segrisd 9,000 -

[P.TO.
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e%td I andF (dm) w=™® (T2

t)  TB B QT 90,000 -
u) BT R RN 30,000 -
v) S 15,000 -
w) TEem e 60,000 -
x) & ;w BRETTON ROLTOR 75,000 -
y) @6 30 zsmfo 76,500 -
z) MOmacég};éaﬁ ﬁzgdmﬁo 9,000 -

283, 53,76,000 51,90,00¢

ZDTO TRk ¢

a) ©o&a> HL), 31-3-2016 g
D) #es, WRNTE SR, 1,20,000
i) AT Sosonsd de. 1,35,000
iii) 0% TRSCHYTOD TTBN TR, 2,70,000
iv) TR0 TOBNRW 8K, 15,000
b) BWENY Soed S, 37,5005 £eBRCTITEr T3 WREBENY Foe TR. 3,000 T TRL T

$3ee? 3R. 13,500 BT WINO.

SReded 3. L0ROTR) DT 1-4-2015 FoTH FREOTEICIHNT. L9 LTOI DOPIWTRTE L7

1.1-2015 3o 0O, QT8 31-12-2015 dmro%éﬁ =% IENT0ET.
SNnie! oR.
39,700 023 70,000
=i
3
Tows R0 3RO 36,000
eR DI TIN 1,800
Be3eD mgjﬁ% 12,000
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15

$9=30 3.
TROET dae@écﬁ%g 8,000
2&TOBD 2,000
ejéd To3pes eﬁae% 1,000
:’Zdé@ 4,000
WO TINT FedT 208, 3,000
Q3eF DT 53@% 2,000
BT TOZY AN, 2,400
FTOT 800
73,000

NTY TR 3,000

a'w%m DR&LE

a) BRTO TR $oneT BRTL TR. 80,000 308 B0OT 20ed Sond RRTeEs 3. 1,20,600.

b) B or¥ TR, 100 & FRLTH3E.

¢) 31-3-2015 T JITNS 3300 T TR. 200.

SRe00ts FRTeD Y FoTTT ward- TR Bomd LBODHLD BEF F0INOXO.

TB0ED LoD (TEODTNT) :

LT

I 8338 T0T) TRTBMOF

BeToTRTT G : Fedd WoES

SR T SN

b

1 10,00,000

2 (=)1,00,000

Y TRHBOING @ AN - 7,00,000
BT - 16,00,000
[P.T.O.
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s 333 an.

I, «3nsd
258 T3 SN ¢

reedd RTAN (CIoZR ETETE) - 10,00,000
3730230 é&maﬁ% (%eér 5533@?5) - 2,00,000
W8 T SN :
[0B - TONTERW (5) ~ 3,90,000

IR B0y INOR FSRIITT - 10,000

303 16,00,000

s ds.

1. et woimey
1,00,000 To3R Fedonsd S, 10003 10,00,000

2. Q0ERLO WBY OoN3

RL-Tow 008 (m?b) (=) 1,00,000
Bedh womee BedR odren T cdRexEoD, BoIRORD. WY FH20IBeN FPNTRNTRO M43
a) P3-TR SRICNYT TRCHI), R $e8F [IPYTR, Fogpeer IRTOTE0.
b)  03003R,eRBTRT Boed 10% s IR0,

0 AT - IonEnY SRS Te. 2,90,000 § APA0.

A Boed cdrend VDMIRATVI0 Trew TRSTFRY WO0 BB BTEeES TSI FIRT:
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.
Third Semester
KANNADA
BASIC

(Revised — New)
Time : Three hours

Maximum : 80 marks

PRk o) WOBT BB MRS BRBRROFTO.

(a) BNONYY 22303 :qusm INFB BP0 wRIST IOToL3eVNRL) ‘¥8d Bedpeys Jwopsd
Bert S0l WodB? ATDLD.

(15)
| (Llarnr)
- (b) E, 08 Bwons BRS) H3020,
|
s DO‘E'G‘ 3369 w3 : (2 x 10 = 20)

B@3. .8, oo

(b)  rfod

() ®)CoBTwezT egs :33:53

(d e OB BITTIC B

(a) Do TBT 30T Iy ogeaam%waz,a.

(15)
[Cntr)
(b) mcsz% TIIT AP wonnye)=)? ed)rieﬁag D200,
(a) D30T T3, 20TTeR? SVEBTFH 03,0007 ITDLD. (15)

[Clatar)

(b) ede3 I3 z.;wos BV} Oﬁ?&ﬁ@ﬁoﬂ SVTIBTTH 03,00B1 =20,

N
g R
w
—
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5. worle g BI, &u3020 (1
(@) ‘©aQTT HOWO 258,0000T &3 035ec0?
(b) 1RECHTO ToITRL0 wod%omddo 2T IRE?
() ‘WIs3od nart aro 0does Jwor?
(d) .00 203,030 JpE BRVERO?
(€) ‘SoF EEALIAD VY ndgwsd 03003 BB Bosondod eoipoﬁﬁeévwﬁd?
(f) ®o.3%. D03 o3 aéa:)mzsoobd Bo0B3reaNGTO?
(g ewdeR Bobtd B0n not3rT, D0T3BO 0339807
(h) NOG&, RpeJ0B0E3) oINS ST chp'azsﬁﬁcaﬁdodo?
() VSN For3od BVeRO?
(G) ‘endw B3O TSV RALIAD VY odns Z208 pelfaN AV A Bod)oj@@qoaﬂd?
k) ©UBD I Q0BBeRO?
Q) TOWad T, Q0TBERO?
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.
Third Semester
KANNADA (NON-KANNADIGA’S)
KANNADA KALI - BASIC
(Revised — New)

Time : Three hours Maximum : 80 marks

Y

Bhaashe Mattu Barahada Shuddige Gamana Kodalaaguvudu.
Ibbaru Vyaktigalu Bettiyadaga paraspara parichaya maadikolluva reetiyalli
bareyiri.

Or

Kelagina shabdagalannu upayogishi sarala vaakyagalannu rachisiri.
(i) Taragati
(i) Parichaya
(ii1) Vishaya

(iv) Mane
v)  Pustaka
v1)  Geleya (13)

~zlagina Prashnegalige sarala reetiyalli uttarisiri.
Raamaayanada naayaka yaaru?

= Raamana makkala hesaru enu?

(iii; Seetaa yaara hendati?

(iv) Raamana tandeya hesaru enu?

(v) Bhaaratada raajadhaani yaavudu?

(vi) Karnaatakada praadeshika bhaashe yaavudu?

Or

Kelagina gunavaachakagalannu balasi vaakyagalannu rachisiri.

(i) Olleya (i) Ketta
(iii) Bili (iv) Hosa
(v) Dodda (vi) Chikka (15
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(a) Ibbaru vyaktigalu baadigeya maneya bagge vicharisuva maatugalannu

bareyiri.

Or

(b) Kelagina sankhyegalannu upayogisi vaakyagalannu rachisiri.

(i) Ondu (ii) Mooru

(ii1) Aaru (iv) Yentu

(v) Hattu (vi) Hanneradu (15)
(a) Kelagina vaakyagalannu englishge anuvaadisiri.

() Namma kannada adhyaapakara hesaru Prof.Damodara.

(i) Ondu tenginakaayige hattu rupaayi.

(iii) Indu modalane somavaara.

(iv) Nanna college bahala sundaravaagide.

(v) Nanna hattira eradu pennugalive.

(vij Avanu nanna olleya geleya.

Or

(b) Kelaginavugalannu koodisi bareyiri.

(1) Nanna + avalu =

(i) Tangiya + adu =

(iii) Ketta + avaru =

(iv) Rasteya + alli =

(v) Akkana + annu =

(vij Huduga + aru = (13
Bekaada eradakke tippani bareyiri : 2x4=t
(a) Aakalu
(b) Nadi
(¢) Shikshaka
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Bitta sthala tumbiri.

a) Nanage obbanu tamma

(

(b) College gantege aarambhavaaguttade.
(c) Nanna angiya hasiru.

(d) Haalu kudivuvudu dehakke

(e) Karnaatakada Bengaluru.

(f) Ippattu + naaixu =

(g Avalige eradu pennu

(h) Nanna tenz ~anaginta naalku varsha

(i)  Nandir: nalini sahapaathigalu.

G) Nanagz mzavannu bhayavaaguttade.
(k} Namm—=z mane rasteya pakka

() Ra=vz mane illinda 5 kilomitar . (12)
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.
Third Semester
Paper I - CORPORATE ACCOUNTING - I
(Revised)

me : Three hours Maximum : 80 marks
Attempt the Sections as per internal choice.
* Simple calculators are allowed to be used.

Question number 13 is compulsory.
SECTION A — (10 x 2 = 20 marks)

Answer any TEN questions of the following :
S 3YNT ez BIY, GuZd0 :

(@) Name the two important method of public issue of shares.
BIEHATON AeBOS Bedond BB B TR INYR) BIO0.

(b) What is right of issue of shares?
BT Be0on JeBF Dowdesd?

(c) What do you mean by firm underwriting?
K)é;;‘é rodrt Howdesd?

(d) What are Convertible Debentures?
TOSIFRWBOWIT FOBIrFoBTeRO?

(e) What is Ex-interest Debenture?
B, T&3 0TZ e Hordesd?

(f)  What is proposed dividend?
TTRT P03 H0BTeRO?

(g) What is effective capital?
205530500 WoB=Y HoEBeRO?

(h) How do you treat profit prior to incorporation of a company in the
accounts?

Beo8es FPIFT YT, FoIAoD &8, 38w Sert IOredo00?
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it If average sales for first four months Rs. 35,000 and for the next eight
months Rs. 45,000, calculate sales ratio.

20930 IR0t IPTAT T, donent de. 35,000 Tenie To30E 2okl dongonedrt §
Bw. 45,000 sNTY, Sp068 8R0T03 dﬁé Ho30.

i What is internal Re-construction?
0307 VO VBN 0TTeRO?

(k) Mention the various ways of alteration of capital.
uodmeﬁdai% [T BZOI AP doam'rwdi 392,

(1) Calculate the total amount collected, when 10,000 equity shares of Rs. 100
each issued at 10% discount.

10,000 mma% éedam}ag gw. 100 S ddabmaoﬁd% ead&z{ 3e. 100 RecBobd
QeRTN WOOS wed), BRZIR?

SECTION B — (3 x 5 = 15 marks)

Answer any THREE questions from the following :
81 YNNI WSesers SoeUd, s3I0 :

P Ltd. issued 50,000 equity shares of Rs. 10 each to the public at par. The
details of the amount payable as follows :

On application — Rs. 2
On allotment — Rs. 5
On first and final call - Rs. 3 |

Application money were received on 55,000 shares. Excess application monev
were refunded immediately. All other amounts were duly received.

Pass journal entries.
P 0. Qabo3z) 50,000 = dedorigsy, . 108 oS TSEwITOR 303N,
Bedony B[V, B 3JNT03 TaS3need !

230 2R3t - O, 2

Fowdodrewan — . S5

iy

IER 3 ©03R IS - G 3

vzrad BN, 55,000 Bedondnt SBobeNS. SUE Ve FHIT), IFN STIIUNT. sudd
DO, BHITY, IS

BRezs TSR, WI0WO.
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<e— C5. Ltd. declared bonus of Rs. 3,00,000 out of its general reserve. The bonus
= Zzlised as follows :

‘a)  To issue 8,000 equity shares of Rs.10 each fully paid bonus shares.
(b} To pay Rs.60,000 as cash bonus.

(c) To utilise the balance of bonus towards the final call of Rs.2 per share on
80,000 equity shares of Rs.10 each which were partly paid up.

Pass necessary journal entries.
Bow® 0. dabAER) Be. 3,00,000 z&roc’d?u’&gl 33, Fa000E3, AROOT Foedd. 8 BYNToI
WReRER), susodeeN3eand :

(a) 8,000 mcﬁaaags Betoney Ge. 10 803 R om0 (AVRIG é‘edori@.fdg{ Qeien.
(b)  Tw. 60,000 BRE Wwess® JeEen.

(€) ovIB Wecss xm:’)&g{ 80,000 :»azbaa‘;s 3edond Tw. 10 IuDWSodL ©0ds 38 Em
G. 2 T08 3,8 Fedrt A3 peNRIR)T.

Bz ma)drieémd 223000,

Journalise the following transactions in the books for issue and redumption of
debentures :

(a) X Ltd. issued 10,000 12% debentures of Rs. 100 each at a premium of 20%
repayable at par after 5 years.

(b) Y Ltd. issued 30,000 9% debentures at 5% discount and repayable at a
premium of 10% after 4 years.

8 3INT Be30w3BoneY AedT Bore SocOTI[S ag’swmdri%idzl Bz EtialsRartIGE R

{a) X wo. ACDLA3F) 10,000 Be. 12 m@a’@ﬂ@aﬁ% ow. 100 mmwdmv@sa& Be. 20
220030 389% QeR 5 IRFrY BoIT wF)RY IvDWesrt SOTOTIT SRR

(b} Y so. dob38I) 30,000 9% ROOTZNYR), Be. 50 BoeBaloodit JeB 4 IRENY Bo3T
Be.10 20010850087 Z0TITIRBIRITE.

Anand Ltd. issued 1,00,000 equity shares of Rs.10 each. The whole of the issue
was underwritten as follows :

P-40% B-30% and K - 30%.

The applications received by the company were for 80,000 shares in all, out of
which marked applications received as follows :

P-20,000, B-8,500 and K - 6,500

Determine the liability of underwriters.

3
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sgor 80. H0LAIF) CGwe. 10 Swaeicdod 1,00,000 memmnd Fedonds) H0ud. St I 7
BOUF0R), T FYNT0Z rodr QBN :

P-40% B-30% 0% K- 30%.
W), 80,000 Bedoniert ezﬁs‘ﬁéaﬁ%%eﬁbﬁoaﬁd% , OHNYD S0H3 WL T FINT03:I
P -20,000, B-38,500 a3y K-6,500

3edb Mudriwesa mwaoaomaii FoBY HLRBOWDD.

ABC Co. Ltd. decided to go for internal reconstruction on the following terms :

(a) 50,000 equity shares of Rs. 10 each are to be reduced to equal number of
shares of Rs.4 each.

(b) 10,000 9% preference shares of Rs.10 each are to be reduced to 10,000
9% preference shares of Rs.6 each.

(c) The Goodwill of Rs.7,500 is to be written off.

(d) The value of machinery and building were written down by Rs.95,000 and
Rs.1,00,000 respectively.

Pass journal entries.
ABC 30. Q0033 0308 FHSos-0usn IGrdd). HIJo*-dusod odeemsodn 4
FINT0330ZTS '8

(@) 50,000 mmqs 3edonied B, 10 ;ina)zdejonx{':) e :ioajdodo . 4 3 Il
LD Riortsal

(b) 10,000 9% =eBRE Bedorieh . 10 zomeodTendy ede 10,000 9% =383}
Bedond S0e0dB), BA. 63 2WRRNT.

e} ROTROT 8. 7,500n¢R), 3rtmd BTN,

(d) aboznY wmone sLIErY w%wq 8OZIoTN Se. 95,000 warie dwe. 1,00,0a
585N,

o ¥l ~¥) cas.;oejr'ie}ai\;:t 23020,
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Prepare a Statement of Profit & Loss as per Part II of Revised Schedule VI :

Rs.
(a) Revenue from operations 20,00,000
(b)  Other income 2,00,000
(c) Cost of Sales 15,00,000
(d) Employee benefit expenses 3,20,000
(e) Tax expenses 1,80,000

8 FYNT Sod300T og3-T, 333 0y, wont-1I B0 3 36&%0‘* VI 3,590 30350020 :

)
(a) [BTNY B0 20,00,000
(b) ¥ST BROH 2,00,000
(c) Boooaks 5o, 15,00,000
(d) TPIOC Pews Surieo 3.20,000
e) 301t Sarivo 1.80,000

SECTION C — (3 x 15 = 45 marks)

Question No. 13 is compulsory. Answer any TWO of the remaining :

2,3 13 3@ 0d. PBYHNYA 2ietT SVBY, v302D .
7 ) ™ ¢ >

Dharwad Co. Ltd. invited public to subscribe 25,000 equity shares of Rs.100
each at a discount of Rs.10 per share.

The payment to be made as under :
On application Rs. 10 per share
On allotment Rs. 20 per share

On First call Rs. 30 per share

On Final call Rs. 30 per share

The total applications received were 30,000 out of which 2,000 applications were
rejected and the money has been refunded. The excess money received on 3000
applications were adjusted to the allotment account.

All the money duly received except Ramesh who fails to pay the final call on 500
shares.

Pass journal entries.
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T30Z?@ 50, QALAIFH Swe. 100 Swaxrdesad 25,000 Betonids), Be. 100 3833 wWeodd
BTN BSIT deRS :
3eDd BTV, B FYNT03 Zomeod SBeSesy :
wxradeodrt Se. 10 I8 3edn
D3TT 3ol Ce. 20 I8 Sedrt
Spve 580300018 Be. 30 I3 Bedn
©03:30 33030001 Se. 30 T8 Bedrt

I WRTO0T w&3), 30,000 éedon’eéai% e923¢ ?izeﬁbﬁmﬁd. )NYA 2,000 Bedy wBenea
363&8?\,, BO S000 TOWIOD IPEAD. azs%saoam 3000 3Bety eBendr Tomociosae
msa;% Secielr) 303§ 20383 eA.

3edond e, BODTV), 300G BNV AEEOROINR) . 833 500 é(‘d\)r{‘%}w\%t BLOVTR
T30e880 373, 9030 330b F [T, B0W0D BreBTITHE)

S0ed8 FBHUF, FowoPRToZ Boewd BFTEA oA

Shruthi Co. Ltd. issued 50,000 equity shares of Rs.10 each to the public :
The whole issue was underwritten by PQRS as :
P-20,000, Q-15,000, R-10,000, S-5,000

The applications received for 45,000 shares of which marked applications wep
as follows :

P-22,000, Q-9,000, R-11,000, S-1,000
Find individual liability of underwriters.

88 30. QoD3F) de. 10 IJwadsessad 50,000 ée&ﬁ@@lmsrm&)ﬁﬁﬁ 3O/ :
a%éedoﬁe}aiglécdo rodrtod 8esa e P, Q, R, S ax3)conen 80238 Smo@ennd

P-20,000, Q-15,000, R-10,000, S-5,000

ATEBITOOT ACGIToW witd), Bedorie vl 45,000 398, ©BOS). w3, AW S Mogrimed
ROBO8ER0B 207 wsrnY B ST :

P-22,000, Q-9,000, R-11,000, S- 1,000

Bedb r8rimeds Fodés BRHEBMOFOLRY, TR &HBOD.
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on 1-1-2014 Nayana Co. issued 2,000 12% debentures of Rs.100 each. The
interest is payable half yearly on 30th June and 31st December every year. The
company is allowed to purchase its own debentures which may be cancelled or
<ept at the options of the company.

~he company made the following purchases in the open market :
ai On 30.4.2015 200 debentures at Rs.95 ex-interest
51 On 31.8.2016 400 debentures at Rs.98 cum-interest.

The debentures which were purchased on 30.4.2015 were cancelled on
31.12.2016. All payments were duly made on the respective due dates.

Pass journal entries for the above transactions.

Tab®e Fo.0b Twe. 100 S eSod 2,000 12% mom’@gm’d%l BowT I0BT. BT Soees
WBALR) VFE aFFIN 30 med* F03) 318 BRowsBoR 33 I3 AeRo3W. By FoT Ak 33,
303 RIODI MDY, 0B 339, Q%ﬁ@@%ddqﬁ@ VP50 TROFBBREL BS528 JeRS.

S B0 $91T ST WOTIAYR) I FRTITES o) VBB -
@) D08 30.4.2015 Som> 200 me3ivr 8. 95 Cod wE #eCDaR.
b]  BWeos 31.8.2016 Fom 400 MOWIHUSY, 0. 98 Tod wa Fodr,

D05 31.12.2016 Cowd, 85 Bemen DTeos 30.4.2015 Toky DOBHIT BOBINITY
OSBRIV, B FIBITS, B0w0H MDDy, ZowoPRT D0BBOR FDAIPA weiSH
SPBNT.

:Soecfa&ei?\,d 55559‘%; 20WoRAT0Z Brez) R0 IS0eHO.

Following is the Trial Balance of Kalyan Ltd. on 31.3.2017 :

Dr. Cr.

Rs. Rs.
Subscribed capital
(50,000 shares of Rs.10 each) - 5,00,000
Calls-in-Arrears 7,500 -
General Reserve - 20,000
Profit & Loss A/c - 32,500
Bank Account 35,650 -
Sundry Debtors 87,000 -
Reserve for doubtful debts - 4,350
Sundry Creditors - 83,000
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Dr. Cr.
Rs. Rs.
Goodwill 20,000 -
Building 4,00,000 -
Machinery 3,30,000 -
Furniture 7,200 -
Depreciation - 33,000
Investments 47,500 -
Preliminary expenses 4,500 -
12% Debentures - 3,00,000
Outstanding interest on debentures - 14,000
Loans and advances 42,500 -
Closing Stock 5,000 -
Total 9,86,850 9,86,850

Prepare Balance Sheet in vertical format.

D08 31.3.2017 Tordo seR; e QoDABBTTL AeRTOT Fo¢ Fe30d B FYNT0IT

Dr. Cr.

ow. ow.
3edd worsey (B, 108 50,000 3evonsd) - 5,00,000
3o wod | 7,500 -
m&adg f]a] - 20,000
©3- B VO3 - 32,500
W3,05° 5703 35,650 -
%9 z.)drs’a; Boned 87,000 -
303007 meﬁ% :-Sﬁbb;’oc&;a ' - 4,350
tA=15) ﬁdeﬁ; FONL - 83,000
BT 20,000 -
BeIE 4,00,000 -
002 R, CTFT NYL 3,30,000 -
ACBRCITT INLD 7,200 -
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Dr. Cr.
dw. d.
I35 - 33,000
1003 0DRODE 47,500 -
T9,009F DWoFNeDd 4,500 -
12% meo=gnd - 3,00,000
oS¢ Doed woesor W - 14,000
0 Do) Swona@ned 42,500 -
03830 303D 5,000 -
Wbd), 9,86,850 9,86,850

863 BeB0dd) FoBIAD AALRT FFT vge:s B8 304020,

Ravi and Co. Ltd. had the following Balance Sheet as at 30.6.2016 :

Particulars Note Rs.
[. _Equity and Liabilities :
1. Shareholders Funds : Share Capital 1 4,50,000
Reserves and Surplus 2 (4) 80,000
2. Non-current liabilities : 9% Debenture - 1,00,000
3. Current liabilities : Creditors - 20,000
Total 4,90,000

II. Assets:

1. Non-current assets :

Tangible fixed assets (Land and Buildings) - 2,00,000
Intangible fixed assets 3 1,10,000
2. Current assets :
Inventories (stock) P - 1,00,000
Trade Receivables (Debtors) 80,000
Total 4,90,000
9




Notes :

The following scheme of reconstruction was adopted :
1.
2.
3.

4.
5.
6.

Share capital :
1,500 - 8% preference shares of Rs. 100 each
3,000 - equity shares of Rs. 100 each

Total
Reserves and Surplus :
Profit prior to incorporation
Profit and Loss Account (Dr. bal)

Total
Intangible fixed assets :
Goodwill
Patents

Total

7193-CO1-IIISC-R-N-17

Rs.

1,50,000
3,00,000

4,50,000

15,000
(-) 95,000

(-) 80,000

40,000
70,000

1,10,000

8% preference shares were to be reduced to a share of Rs.50 each.

Equity shares were to be reduced to a share of Rs.40 each.
Debenture holders have agreed to accept 900 10% debentures of Rs.100

each in full satisfaction of their claims.

All the fictitious assets including goodwill and patents were to be eliminated.
Land and Buildings be reduced by 20% and stock by 25%.

A provision of 10% on debtors for doubtful debts was to be created.

Pass the journal entries and prepare the Balance Sheet after reconstruction has
been carried out.

g2 303y Fo30HIA Biveos 30.6.20168, 2W03 wge:S B3Fodn B FINT03E :
ITHBrYo e336d moal; 203

WOBTY S0 BATBMROTNY :

3e00T200 B : 3630 WoBTY

0B ) eyl

DeFof I BRTBMOFINL 1 9% HoTI N
1529 BATMOBNY ! 6@636‘* TONYO

o ¥0)

4,50,000
() 80,000
1,00,000
20,000

WD

4,90,000

10
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o519 V) b3z ed RLeR A 303

)

on.

1. esanes .

[ -

L. g vob ey :

FUCLIDS ?},ad AN (P ~ 6&3}3) - 2,00,000
' e :—b@d es3rie 3 1,10,000

2. (A21S) esAried

womROTI (8e) - 1,00,000
29,320 23T, Je3rivh 80,000
whi) ' 4,90,000
ER e ;
.

1. 3eto woBZey :
1,500 - 8% 333> B3 Bedoried B, 100 Fod 1.50.000

3,000 - 5333366 3edoned 8e. 100 dod 3,00,000

W), 4,50,000

2. N IATa34Y S08) e :

SeoBIob FpIT wozy 15,000
o3 - HaQ w93 (Dr.) (-) 95,000

(480,000

3. (Cre¥lede] 2336 BANeH

ROTR) 40,000
3, B8 70,000
b, 1,10,000

11
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391 560320 20307 SOBL dwBob ob‘.faeuzsodo(\'f\gl IOV ART R aTa R
1. 8% IBS S?ﬁc‘d zSedorie:imqL SV 3. 506; RN,
2. mmqs Ekti)ﬁﬁédocL I3 B, 40% AYRTNT.

3. 9% mexgwetsdy - 900 10% HOTZINIR), 3T BoFper s Beomeesdrt
JBHTLEYT.

4. DY WFFRCIT BINYIT ROTOR NS ms% Sﬁ%ﬁeﬁw\i nogpee Inc TN,
S, Fed S s&gp’da}% 20% 03 éo% momﬂ 25% Bow sR3IreYRe 39188
6. ouB S0etis Boeed 10% RoZodngs PR, F20NDRED ZAURT.

SocR T $0308 030 TR 5020RTod Beew 22509 DD, ¥EIS BT 30370DD.

Case Study (Compulsory) :

Arpita & Co. Ltd. was incorporated on 1.7.2016 to take over the business of
Akshay from 1.4.2016. The following was the Statement of Profit & Loss for the
year ending 31.3.2017 :

Particulars Note No. Amount Total
Rs. Rs.

1. Continuing Operations

1. Revenue from operations (sales) 4,00,000
2. Other income (rent received) 12,000
(A) Total Revenue 4,12,000

3. Expenses
(a) Cost of sales 2,72,000
(b) Employees benefit cost : |
Salaries 72,000

Directors fees 2,000 74,000
(c) Finance costs :
Interest on Debentures : 4,000

(d) Depreciation 8,000

12
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Particulars Note No. Amount Total
Rs. Rs.
() Other éxpenses :
Printing & Stationery 4,000
Office expenses 24,000
Rent and rates 3,600
Commission on sales 16,000
. Audit fees 2,000
Free samples 6,000
Bad debts 1,600
Formation expenses 2,000
Sundry e€xpenses 800 60,000
(B) Total Expenses 4,18,000
Net Loss (B - A) 6,0(5

Additional information -

(a) Bad debts upto 30.6.2016 were Rs.400.
(b)

(c)

Rent was paid at Rs.200 per month.

I. wd FIBI0NE :
1. 335908 emaat (Soats)
2. 2338 swmaabh (wadr IETR))

(A) (SSVECARTe )

13

8IS Ross o3
3.

4,00,000
12,000

4,12,000

N_‘%
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33 eTes no, B3 2d),
o¥r) dwe.
3. DWW :

(a) SPooks Bes, 2,72,000
(b) T°TIT Pey B :

JowY 72,000

ABee3883 e 2,000 74,000
(c) Brwons 3 o

2OBINY B 4,000
(d) =339 8,000
(€) «3T Suney:

S0, 03 FS0N, 4,000

FeeD S, 24,000

wRaR O3 o 3,600

23,00 Boees Ben e 16,000

dﬁé BTIRFD é\)e{& 2,000

&3 5:%0:50‘ 6,000

0RO TO 1,600

{orsly) sa@;-jm dzsw 2,000

2?33 Segnieo 800 60,000
(B) 2b3),Bun%0 4,18,000
0= 59 (B - A) 6,000

BUF SN :

(a) Bme0% 30.6.20167 IVAST OB mo© Gwe. 400.
(b) I3 3o Tw. 200 28R BRLITOIT.
() Bwme0E 1.7.20160 ISAS 8, dw. 1,60,000 S03) ¥F0830T M3, Be. 2,40,000.

Spcored I IR FoITE ©LI-Fo FoBO LBODD.

F0BAAD FoobE FDD Wil Becorded FpIr Hone Brcodes Bo30T &%H?ﬂ@&bﬁe)ﬁ%é@%&

14
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.
Third Semester
HUMAN RESOURCE MANAGEMENT
(Revised)

‘ime : Three hours Maximum : 80 marks
Answer all questions according to internal choice.

Question No. 13 is compulsory (Case Study).

SECTION A - (10 x 2 = 20 marks)

Answer any TEN of the following questions :
BINT e B IZnort evgdd :

(a) What is human resource?

ST 30@’&@@@ Q0BBCRO?

(b) What is Motivation?
0088 H0BTeRO?

(c) What is Placement?
33050 D0BWBeRO?

(d) What are the bases for promotion?
VR AeBen WeEaNtHT Bpasngesy?

(e) What is Interview?
R0WBERVS0BBeRO?

()  What is piece-rate system?
808 5200 T 30WY D0BBeRO?

(8} What is meant by “Transfer”?
IMEIE 20T3eR0?

(h) Name any four external sources of recruitment.
P3rod adnF)dde Do), waaa’é :h/ac)miabcl 2020.




", OTTTLNL T BT o e T
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(i  What is incentive?
$e0Ened ordery?

(G)  What is Induction training?
T0230LRIT 0 30238 Q0TBeTO?

(k) What is living wage?
BeSTPT BowdSonBeso?

()  What is Job Analysis?
3 IBERT 0TTeRO?

SECTION B - (3 x 5 = 15 marks)
Answer any THREE of the following questions :

IS anI)de 0wt BB evzo0 :

What are the objectives of HRM?
SPTI ROTTVRL JSFBT 0D oV eBnved))?

Explain briefly any five qualities of HR Manager.
SPTZ F0TVRL FSTBTT adRF)te Do roends) Soggmen HT0L0.

What are the objectives of HR Planning?

ITI 208BTRL odecwsad VT eBRYa)I)?

State the principles of sound pay structure.

U3 eI Beedodd I3 iy 3920,

What are the benefits of training to the employer?

S0ez01t 30 ed00marE Todeemmnva)?

State the objectives of Performance Appraisal.

T 0 OTHITON K)agairojo emcgsmai% 3920,




10.

11.

12,

13.

e

7197-C33-1IISC-R-N-17

SECTION C - (3 x 15 = 45 marks)

Answer any THREE of the following questions. Question No. 13 is compulsory :
BINT Wezor Sedy E;é‘;m?rf V30D, 33, 730&% 13 6@%03.)33?\6 :

What is HRM? Explain the objectives of HRM.
IASOTL 305’6@@0 ISEBT 2083607 IS 5’0::‘36./%}0 NBEBH O en.x;?sc‘éir'i@ém‘=l ATDD.

What is Recruitment? Explain the factors affecting recruitment.
B3 20BBeRO? P30l B0ee3 IO Dedoz ¥oBNLIIF)T)? IZ0LD.

Explain the objectives of and components of employee compensation.
V500 BogSN Jeros B esneb dane ool &90&#\’6’:}6\2l JI020.

What is off-the-job training method? Explain the merits and demerits of off-the-
Jjob training methods.

3030 BROAS 30238 0VBER? oy ®BRONS  3T23e30d> eﬁoﬁ@&:&ﬁ@)i&g{ BN
ammﬁfaoa’mid% 23030.

What is performance measurement? What are the essentials of effective appraisal
system? Explain.

FODF ABFBHD II® D0BTBER? TOHRT0 Foodye nOBa)Neo QFReodd easa:ssgwem?
Bintele)

Case Study :

TFOm G o :

(&) Karnataka Bank wants to recruit for 700 vacancies. What procedure do you
suggest to fill up these vacancies? Briefly explain.
TOOE 3T W05 700 Soz:gamid% P3F Insey mi?ud. =24 &Q’Dﬁef&l P8 Inden oz
azpawsag RRBRIZCD? R0ZBTN 23020,

company to reduce absenteeism.
ol BT ADUET 52033 3OF) sa00nNYomoN 635‘%6& rjjdo mubdoagd. 39R)
W) ASEBH ZOBMCTIN rjjdo BOWoS 3@\3&3 F0=A o) 30&1@(6% BRUWD.
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.
Third Semester
COMPUTER APPLICATIONS IN BUSINESS
COMPUTER APPLICATIONS - I
(Revised)

Time : Three hours Maximum : 80 marks
Answer all sections subject to internal choice.

Question No.12 is compulsory.

SECTION A - (10 x 2 = 20 marks)

Answer any TEN questions. Each question carries 2 marks.
fa) What is format painter?

(b} What is an Access toolbar?

(c)  What is meant by Smart Art?

(d} Define macro.

{e)  What is presentation?

(f) ~ What do you mean by Animation?
'g)  What is Slide Sorter View?

‘h)  What is heading?

(i} ~ What is HTML?

)  Define checkbox with example.

k) What do you mean by open system?

1) Mention the elements of system.

SECTION B ~ (3 x 5 = 15 marks)
Answer any THREE questions, each carries 5 marks.
Zxplain the advantages of MS-Word - 2007.
—xplain the steps how to create Header and Footer.

“vhat is change case? Explain the types of change case.




10.

11.

12.

13.

7204-C72-IIISC-R-N-17 -

Explain the applications of MS-Power point - 2007.
Explain the structure of HTML with example.
Explain the open and close system.

SECTION C - (3 x 15 = 45 marks)

Answer any THREE questions, including Q.No.12, which is compulsory,
each carries 15 marks.

Explain the paragraph group options with diagram.

Explain illustration, links and text groups from insert tab in MS Power Point ]
2007.

Assume that you are working in Infosys Software Pvt. Ltd. Your CEO organized
progress meet of the company. Prepare the notice to all employees and send 2
using mail merge facility in MS-Word 2007.

Explain the characteristics of System.
Write HTML code to prepare result sheet in website.

Write a short note on:
(a) Alignment in MS Word - 2007.
(b) Advantages of MS Power Point - 2007.

(c) Decision table.

[
[

ifi
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.
Third Semester

BUSINESS STATISTICS
(Revised)

- Time : Three hours Maximum : 80 marks

Non-Programmable simple calculator is allowed.

SECTIONA - (10 x 2 = 20 marks)

1. Answer any TEN of the following :
e B3¢, oug020 :

Define Statistics,

30&)363335 w%a% 8993,9.

What is Secondary data?
B3ead VYR dowSertr?

What is classification?

SNerso 0TBeRO?

Find the Arithmetic Mean of the Values : 60, 65, 80, 90, 95.
&faégddod BN ness :-:,'03360:}0&3l FORO HBAWD : 60, 65, 80, 90, 95,

What is Range and write the formula of Range?
JO208 DoBderty ) JdA3L mgwa& WTAWD.

Coefficient of variation of the price of an article is 50%. Its S.D. is 30. Find

2080 IRV dow nOe07) 50% I, ¥8T dabd wed 30 QN ®oF nes3
R0ED Bom> HBOWO,
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(8 Write down the formula for quartile deviation and coefficient of quartile
deviation.

BOPFT R I P JBosad ROFH0TNY FRI[TY, WIGO.

(h) Define standard deviation.
Doz dsedod =3, 3¢920.

(i) Name the types of Skewness.
DFZ3ad PRy, BZOAD.

() Name the four types of one dimensional diagram.
200 03PN WINY T, AP 33020.

(k) Define continuous and discrete variables.
333 BeINY B3 VBYsT [BT 9,23, 3PRD.

(] Define Kelly’s coefficient of skewness.
390V FR0Z NOT0sT 93 3RO,

SECTION B - (3 x 5 = 15 marks)

Answer any THREE of the following :
BINT Wezor Saedd FBRIrt eugd0

What are the different types of classification and also explain any one of them.
Shergoed Wed Wed Farnieh adRHR)? S0 VMY 20T, 3B JI0W0.

Draw more than Ogive curve and Less than Ogive curve and find median for tt
following data :

3one w38, SoeeyBNos B Fous B Fowry By 8y SoeeytNos FB Borss 3 Foa
53, T80 ) FoFISR, TR0 HBOD :

Daily wages (Rs.) : 10-20 20-30 30-40 40-50 50-60 60-70

B 809 (00.) :

No. of workers : 10 18 25 30 20 12

{Ix]anie]e] z,‘oa% :




- TSNS
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by Pie diagram :

Labour Bricks Cement Steel Timber Supervision

20% 12% 18% 25% 10% 15%

o3 T INAT DY I35 Mééf‘g eé)ﬁ%’&}* 03T IoFrie 83, d&iafon 30e020 :

FRd N 20ess M 3% Seer Moo
20% 12% 18% 259, 10% 15%
Calculate Arithmetic mean for the following data -
1A DYXT, Mo ries3 303380:}3&3l T0BO &HBOWD ;

X: 5 10 15 20 25 30

F: 8 12 18 14 10 8

Ascertain Q, and Q; of the following distribution -
B3NS Bowsrt Q, 3 Q; TR HL&BOID :

Sales (Rs.’OOO): 10-20 20-30 30-40 40-50 50-60
24 ()

No. of firms : 5 17 19 11 8
soZAne 303% :

A distribution of advances of a bank gave the following results
(a) Coefficient of variation = 5

(b)  Standard deviation = 2

(c) Karl Pearson’s coefficient of skewness = 0.5

Find the Mean and Mode.
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39,08.0003T0 Fo© J30B 0o 30 FSNT03T

(a) DBodod nOH0s =5

(b) Qob3 B =5

(c) ooefr H0HTZRT RSB0 MOFH0T = 5
ress3 30030 I WHOYIRYRY, FoR) HBOWD.

* SECTION C - (3 x 15 = 45 marks)

Answer any THREE questions, of which Question No. 13 Case Study analysis is
compulsory :

e Soed IBNRII eugdD. 38 13 smeodoToNd :

QL a

8. Find out the Arithmetic Mean, Median and Mode for the following data :
391t Botd DAY, Ned3 Z09RD, BoGT ToNA WBOOTALR), FoBY HBODD

X: 10-20 20-30 30-40 40-50 50-60 60-70

F: 10 17 32 35 16 10

9. Compute Quartile Deviation and coefficient of Quartile deviation for the followin
data :

o gYNS 2:933 ﬁoa:azs 230HR 3P rs oI 33.)3)_0 W¥oFFT duodod mmoﬁm}ﬁ% 50T
| &B0WD :

Marks : 5-10 10-15 15-20 20-25 25-30 30-35
0T :

No. of students : 6 18 20 18 6 2
:.)z:mz@s'rieﬁ ﬁoa% :

10. Calculate Bowler’s coefficient of skewness.

WA IFIZ0d NOTOTITY, FoB) LRBOWD

X: 10-20 20-30 30-40 40-50 50-60 60-70

F 12 18 36 24 16 14
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11. Compute mean deviation from median and mode for the following data :

NS V=Y, STIRD awowwmq SOFB3005B0T 03 WBIOTHOT TG HROLD :

Marks : 0-20 20-40 40-60 60-80 80-100
OB :

No. of students : 12 16 32 18 12
é:)aazs@trrw :;’oa% :

12.  Calculate Karl Pearson’s coefficient of skewness for the following data :
& 3INT MY, Her H0DLTTT ARZ0Fodb mmosm% OB HBOWLD :
X: 5-10  10-15 15-20 20-25 25-30 30-35 35-40 40-45 45-50

F: 6 10 16 22 32 18 14 10 2

13. Case Study analysis :

X ad Y are owners of two similar industries. An analysis of the monthly wages

paid to the workers in the firms X and Y gives the following results.

Firm X’ Firm Y’

No. of Workers 900 600
Average monthly wages (Rs.) 400 350
Variance of distribution of wages (Rs.) 400 625
Find :

(@) Which firm pay’s longer wage bill?

(b) In which firm there is greater variability in Individual Wages?
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IO 6g 0T B :

X33y Y ‘az%)do Ses3) R m% qjmbﬁﬁdd& BBROICOIT. HTB 305@!1%60(5 XY
IR)nY 3ondT TR0 TIMd ) VIV IS & RT3 !
303 ‘X’ 3o Y’
[~

@

RWFET F03S, 900 600
30 30980 IS (T.0.) 400 350
300 Boudobhe) acooq Bed 400 625

ForO LBOWD :
(@ od» 305@323% TR 3PBOZT?

(b) cIRS RoBob 0088 BRedobd) BYR e Ford> WTIH.
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.

Third Semester

PRINCIPLES OF MARKETING

(Revised)

Time : Three hours

Answer all Sections are compulsory.

Question No. 13 is Case Study.

SECTION A - (10 x 2 = 20 marks)

1.  Answer any TEN of the following :
AL YA B3 ajzin’%"ﬂ V3020 :

(a)

What is marketing?
<9083 3,300 DonBerd?

What is consumer oriented concept of marketing?

ar¥. 3 mﬁm\% Seoots a’ba’cgoaf Q0TBeRO?

What is Niche marketing?
I8F MBT(IF) Svoooes D0TBe0?

What is brand?
308, d0wBerdH?

What is product planning?
SRNIT odecss 0TWBeRO?

What is Pricing?
BS PO Q0TTeRO?

What is labelling?
i3 ¥ot3R0DE 20TSerd?

Mention any four core concepts of marketing.
aleF)dde T, INTE $CHYT 565’%«&(1’@43% 3920.

Maximum : 80 marks




(i)  Give any two bases of market segmentation.

;i)bd)ﬁwu&)wua?oi) 03RRBE SBBO BHTNGTY Qekd.

() Whatis Product Mix?
S0003 08,8 0BTE?

(k) Whatis advertising?
25950030 HOBTER?

() Expand AIDA.
AIDA 23020.

SECTION B - (3 x5 =15 marks)
Answer any THREE of the following :

350 m&% em_soaz,a :

Explain the modern concept of marketing.

BRINT S0 J;8,0300D F;Saﬁe)&aﬁobmd&aiﬁ?o&

Explain the stages of product life cycle.
I Bed3 FOWTT 503ﬁejmd&);$8z,6.

Explain product planning and development.

303 alees 33y RH 008> SO0,

Explain the different kinds of packages.
ok BePTOD G BFONIDY D=D20.

Briefly explain the functions of Branding.

S8, wdDFoD Foodor YRy, RogF=oN DI0AD.

Explain objectives of sales promotion.

S00t3 IRIEV0I ouB eBRYDY JI02D.

7194-C11-IIISC-R-N-17



10.

11.

12.

13.
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SECTION C - (3 x 15 = 45 marks) .

Answer any THREE of the following questions including Question No. 13, which

is compulsory :

gw@aod I3 B0ad 13 2918003 ST I3 evadAD.:
@ Q ) R T rd

Define marketing. Explain core concept of marketing.

, 300063 B3 0adad S0y 392, ©TT BOFORRYE) HFOAD.

Explain objectives and importance of advertising.

250&C028® e:udmeém}o J03) mwsﬁwmﬂ DR020.

Explain pricing policies and strategies.

3¢ ABEORQF D Groedesrieh Hone 303 NYE), SO0

What is channels of distribution? Explain the different types of channels of

distribution.

DT IPNE H0BTERI? JITHd PN AP TFIONRYE), IS0

Explain basis of market segmentation.

dmdoﬁéﬁwmjuamb emdﬁeﬁmd DF020.

Case Study :

You have developed a new electric Scooty which has multiple features than
existing rival products in the market. In the light of this answer the following

questions :

(a) How do you differentiate your new electrical scooty than other rival

products?
(b) On which basis you segment the market for your new scooty?

(c) How do you advertise your new electrical scooty?
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SB00 UgobS :

WD womd> BER TS DY WESIDY VPFY, SAWD. WD Swride
BRUTEHLATLS BN PBFONG. 81 Liobd NS FEtvm; euzd2

(@) ARy Bz ‘BRLY 930 3PF3s ‘BRLSMIYN03 PISor Bert M T ARDD7?
(b) 0InS 50T foees Q=) BAT ‘BRLS 0 DRTITEY 0R) HPFERODD?

(€) QI Be ‘BRLS oD asa&eoaéaiz{ zert SREoD?
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.
Third Semester
COMMERCIAL ARITHMETIC
(Revised)

Time : Three hours Maximum : 80 marks

-
<

Mathematical tables will be supplied on request.

Simple calculator are allowed.

SECTION A - (10 x 2 = 20 marks)

Answer any TEN of the following :
BINT Wewon BIY, HUZOD

State any two Laws of Logarithms.
cSJaen%az;sdJ‘af 03505 W 0 HTRY K)odoa'bmfaigt 20000,

Tl0g 21 =1.3222 of log 3 =0.4771, find log 7 without using logarithm table.
iog 21 = 1.3222 maniwe log 3 = 0.4771 &@3 log 78, Seemdgas’ gneks svsaleenads
TR HBAAD.

Define Simple Interest.
30¢ wROL ;aéa% 3,3D.

Find Compound Interest on Rs.1,000 for a year at 2% p.a.
8. 1,000n¢ Be. 2 503 2,030 IRFT, 8roa 653, WRADLR)Y?

Name any two methods of finding depreciation.
RDFLODRY, FOBY SBOINVT 03PF)WIWBR HTRD BB INYDY, SO0

What is annuity?
[TrAE d0BTesO?

What do you mean by Installment buying?
50389, BR0B) BT HoBTER?

Distinguish between Trade and cash discount.
<3@0 DadoN Farte BRH DadPoINY FFaR SO,




10.

11.

12.

13.

14.

15.

16.
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Find 0.05% of 0.5% of 5% of 15,00,000.
0.05 8¢.3 0.5 8¢.0 5 3e.0 8. 15,00,000 23¢8 50w &BODD.

Explain direct proportion.
Jed ¥BOTIIIT), SO0.

Who is a broker?
BeRg ©ons 0350O?

If 20 men can do a job in 60 days, how many men required to do it in 50 days?
20 wED 2o FIITY, 60 BV SPBWYTO BPET Vile FORI), S0 BSNYY Jeren
DR, BITO WeBrOFTO?

SECTION B - (3 x 5 = 15 marks)

Answer any THREE of the following :
BYNT eIezon Soedtd FBNIr eugdD

What sum of money invested at 4% SI will amount to Rs.5,100 in 6 months?
oo ea:ioabq 3e. 40 avd m&éodoq 6 3ond wIBt 3eEhmen $e3I) C. 5,100 enrH3IW.

A mobile set can be purchased for Rs.19,000 cash of 9 months installments of
Rs.2,500 each. The first instalment is to paid on the date of purchase. Find the
rate of interest charged?

dn. 19,000 Weod SRWYOR), B3 oneh dwe. 2,500 o3 9 [oeas FoBnYd DOEB ¥
Sesosod F03D), DOCDIT BIToBO BptdY s oY WRODT) Fow &BAWD.

Goods costing Rs.5,200 are sold at 20% above the cost through an agent who
charges 5% on the first Rs.4,000 and 3% on the balance. What rate of profit does
seller receive?

O. 5,200 SSob SINYR), Be. 208 B8 20N ST IP0E SNBRNIIH. DO
SRATIT Cwe. 4,000 ndrt Be. 5 Co3 vIRBY, Be. 3 To3 BWenRY SBIVT]S. JMET BT
COISR)? -

A merchant earns 6% profit by selling an article costing 30,000. If he allows 20%
T.D. and 5% C.D., how much above the cost be marked?

W) mzsmaod» 20030 5:1336% ow. 30,000 nort D0ed2 de. 68 wagirod SedL3E. B3I
ge. 20 OR), T30 Dodod Fne Be. 5 TR, BRX DodRaE BBV 008 WeShos
SB3 WS AR, &iﬁ Q303 S?




17.

20.
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An agent charges 3% commission on cash sales and 6% on credit sales. If he
earns 4.3% on the total sales, find the ratio between cash and credit sales.

) DWOLRD VAW Svews Foedd de. 30 Hone Hud IR0kt Hoed e 63 By
FBod0TE. VIO wed), 3P0 Foe Be. 4.3 BeRy JBBT FNBO 303 HVB, IPTT
IBITIIIT, TOBO SHRBOWD.

If a man’s income is Rs.67,500 for 3 months, what does he gets for 172 year.
EAN ;§S§Qi> esz3odR) 3 3onwnt Sw. 67,500 Nerdd ¢S 172 IRFEY, SBAdVE Bwaod
DRY?

SECTION C - (3 x 15 = 45 marks)

Answer any THREE of the following :
3INBIHNYS Faedd, eu3T BT

(a) Simplify using logarithm tables :
ﬁJaerT%bqiw 6./0@3‘%5 B 03eeN 6@?\666& 20Yes0 :

4\/ 1600 x 0.4328

(8)

0.002345 x 96.34

(b) In what time will Rs.4,000 amounts to Rs.4,480, if Rs.50 amounts to Rs.62
in 4 years. Put out at simple interest? (7)

309 wBob03 de. 50N 4 IRFTY, B, 62 66T R, 33Fned wzmen dw. 4,000 nd
0. 4,480 Bp3m0r030?

(a) The difference between simple interest and compound interest for certain
sum for 3 years at 6% p.a. is Rs. 137.50 What is the sum? (8)

2080 398 Boees Be. 68 BTG, IPTH IRFT WSHOL VY WB I3 WTWR 0D 03T
Sw. 137.50 8538 &z08) 50@)> &B0DO.
(b) A person borrows Rs. 1,80,000 at the rate of 8% for first 3 years, 12% for

next 4 years and at 14% for the remaining year. Find compound interest
payable at the end of 10 years. (7)

22 38 S, 1,80,000 nYsy 8e. 8 G038 30BIRT Saedd IRENIN So336 4 IRFnIrt
3e. 12 803 ®orte evdrd o=t Be. 14 Jo3 IB0d0IS. Tomud 10 SAFNYY, 8ro=
33, WR R)Y?

(a) A machine costing Rs.2,00,000 depreciates at 12% p.a. by DB method. Find
the value of the machine after 8 years. (8)

Sw. 2,00,000 Weod ad03) aPadnddos Wead dedohd 3333 de. 12 Jod 3339
B30, 8 IReNY §030 wra abo3 T W F0Rd SLBOWD.

(b) Find the amount of Rs.15,550 in 5 years at 8% p.a. compounded quarterly. (7)
gwe. 15,550®) =383 8 Jo3 w3z,0B809, 3BT, J3 Swedd dontdrt wRBADLI)
$50ABT BT 3AT SR




22,

23.

24.
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(@ A loan of Rs.2,80,000 is repaid by means of 4 equal 1nsta1mentJ

(b)

(b)

including principal and interest. Find the amount of annual instalment a.if
5% C.I.P.A. (8|§

dw. 2,80,000 HOIB), 4 30 TP wxen oY B 33063 DTN, I3 S
3e. 5 003 w33 &)Eéém’dde?nerbd 238 IR F0oID), 0B ooéo&)&

The property is divided among A and B in the ratio 1 : 3, B and C in the
ratio 4 : 5. If the value of the property is Rs.80,000, find share of A & B. (j
WO e330D WSadbmy A S8y B id 1 : 3 ¥TOTIIBY Fone B 03 C 4 :

esabwédc‘) DU &rae.}o:-md & 0D Weodw Bwe. 80,000 Rend 8=dr ards 8&9::?
DoV HRY?

A table and chair together costs Rs.5,000. Table sold at 10% profit and
chair at 10% loss. If on the whole there is a profit 2%, find the cost of each.(8}

WOy Boezd o) Bowrod wed), WS . 5,000meh &emd& de. 108 enyine.
ﬁoz?,s'odo&zt de. 100 ai*’awde?ﬁ enlelartel W), Ry 3e. 2 Q0. FMTT Boewd oD
BoUEad 233 Fory HLBOWD.

A salesman is paid a fixed salary plus commission based on percentage oz
sales of Rs.30,000 and Rs.34,000 in two months he receives in all Rs. 1,80C
and Rs. 1960 respectively. Find the amount of monthly salary and the rate
of commission. (7

W), SR0IMOIT Bowe By IR0t WSad Boces 3eBBI0 By ﬁJacstarbSd
65)3‘06 DOB) oMY e3> Snooks G, 30,000 I Be. 34,000 BwY ea:r‘
. 1,800 ®anie SR, 1,960 Teng @ane sowd SBaivss. oSs dortd sows mrwj
BeRPobR), For> SHBOWD.

A manufacturer makes a profit of 25% on cost allowing 20% T.D. If the cos*ﬁ
is increased by 12.5%, how much percent should be reduce the T.D. so as
to earn the same rate of profit keeping the lost price unaltered. (8|1E

%), emaac%m de. 20 m‘ma dadmonsd &faesa&ﬁ 5003 WSS  Doeed e 25
emjmrbSd 2000 Jeg emaadw ms:é) de. 12.5 OX, £mh 3003 zSeBodom
WEOU00RT QBw\) (OrTAS wdodoe)o ) pnte] Sodoaosoéo.bm cbm\) ﬁaa’so S eso?

In a 1500 metre race between A and B, A beats B by 60 metres. In a simila~
race between B and C, B beats C by 50 metres. By how much would
A beats C in a similar race? (7|

1,500 2oeeso AgEabd Acd Bo:bm 60 doeLsonor Sooadosaaf e ,ods-odoe‘) Bm
Codmy, aR), doetso® &oo’%dd Ao Codom AR, WL &oDTLITVRE?
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.
Third Semester
MONETARY ECONOMICS
(Revised)

Time : Three hours Maximum : 80 marks
All sub-questions should be answered continuously.

Answer all the three sections.

SECTION A - (10 x 2 = 20 marks)

1. Answer any TEN of the following :
3YNT 0F)WonTBR B3 3ZNYn ev300

(a) State the meaning of money.
B 00 eaqﬁrdaigl BeYD.

(b)  What is Standard Money?
368 Telrod mogBonderd?

(c) Mention any two types of Inflation.
& FoWIE TR %ﬁadﬂ@&l B3020.

(d) IfM =Rs. 40,000,V =10and T = 50.000 units find out P.
M = 40,000, V = 10 3 T = 50.000 QAN P = 7 868 5060 &B0D.

() What do you mean by cost-push inflation?
SuE o BOYT 0rTeRO?

()  Give Robertson’s equation of exchange.
ToWEF AV O[T DASO0D 3AETT JeBD.

(8 What do you mean by Nominal internet?
Vo083 WB HonTero?

(h) Mention two assets of commercial bank.
DEbeLA W 0BONY DTVR BINRTIF)3)?
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(i)  State the meaning of cheap money policy.
o7 B0 05T Aed D0BBESO?

) Expand CRR and SLR.
CRR 33 SLR 302 w3020,

(k) Give the meaning of Bank Rate.
29,080 B3 20BIeR?

() When was RBI established ?
RBI od»zen sa3sneorsn?
SECTION B — (3 x 5 = 15 marks)
Answer any THREE of the following :

QIR WETR SaeTo I eugdD :

Explain the differences between Static and dynamic functions of money.
B0 .'u;ﬁ:a’ S0 BOTIZF FoobE Y BBIIT 3R 390

Describe the effects of Inflation.
D cbz.)udd DG 565@5\)“@(&2& 302D,

Write a brief note on Money Market.
303 mdoﬁesﬁob zorj\ OF0 wsaeé 200200,

Discuss Liquidity V/s Profitability.
B33 303 IZZD, 3FRD.

Write Marshall’s equation of cash balances approach and calculate the price leve

M = Rs.4,000, Y = 8000 units, K = é

F90Br TS0 BNKD wWed IBERFB 3AEFTH W3WO FINT ©od 73095;@%’ B30T oees W33 3
&HBOD :

M = G»n. 4,000, Y = 8000 tssned, K = é

Explain the quantitative credit control measures of RBI.
Beor, wR03T [BRERIT I A0d03e FRoNYR), 3D
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SECTION C - (3 x 15 = 45 marks)
Answer any THREE questions. Question No. 13 is compulsory :

OoF) W3R R0 IBNIr ev3d20. 33, 309% 13 F@R0305oNS :

8.  Explain the functions of Money.
BT Faobsriem% JI02D.

9.  Critically explain the Fisher’s equaﬁon of exchange.
JRO*TIT A0 Smeédmwmd é.’)doaa?%ﬁmﬁ 208ed20.

10. Discuss the various steps involved in the construction of Index Number and find
out CPIN based on the following information :

SL.LNo. Commodities Price in the Price in the
base year (Rs.) current year (Rs.)
1 Wheat 20 per kg 40 per kg
2 Edible Oil 75 per kg 150 per kg
3 Milk 10 per lItr 30 per Itr
4 Sugar 25 per kg 40 per kg
S Fuel 200 per cylinder 400 per cylinder

dSne m@sowm& SURSTIT G ﬁosﬁ@;}&zl BUFID ) FINT Iwddny 800 oees
CPIN 30%) &$80908 :

®. 50 RTBonL BoRO IZFTS 28¢5 FBIE IIFTA 3¢
(BR.ned) (Be.ried)
1 roed Sn. 20 B8 3.28.18 Ss. 40 33 8.2318
2 WT do Sw. 75 I8 8.28.18 Sn. 150 3 3.2318
3 Boew Sw. 10 3,3 detsosrt d. 30 I3 Aetsors
4 ] Se. 25 3,8 8.23.1 dn. 40 38 82818
5 R0HT OR. 200 38 2do@0t T, 400 T3 2dodoR
3




11.

12.

13.
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Explain the features and constituents of money market.
BT S00TES 0> OZNYRY, 03 3003.0(’%601)6% DI020.

What is Monetary Policy? Explain its objectives and features.
B0TAT Ded 20BTER? B AWT HuKed T OFoNYR), HS02D.

Case Let :

Read the caselet carefully and answer the questions given below :

Suppose there are five nationalised banks in India, viz. Canara, Vijaya |

Corporation, Syndicate and Dena banks.

The RBI has fixed the CRR at 5%. Canara bank has received the initial deposit of

Rs.20,000.

(@) Where is the RBI headquarters?

(b) Mention any two quantitative credit-control measures used by RBI.

() Explain the process of credit creation by using the given data in the caselet.

(d) Mention limitations of credit creation.

238 AT Z00 :

® )

’adaigl WRN0RTI0V0T LD Hann AT ;ujz{lﬁe?ﬁ U300 :

2030 FS0e mﬁoa, Awodre u%oﬁ, SoaperUeRv® mzsoa’, 20838 ezt mzsoa SR dewe 239,05
oert ot oaé&gads u%oﬁom?d 0T DI0D. 903R dsIE zo'%oﬁ /N AP 8RBT 5°:
ANB 2B, 950 FTve 23,08 G. 20,000 See Be3ed SEDT.

(a) RBIG I35 82ed 2W?

(b)  deor e3y08 WUDT aiRFTTUL 0B FRREIF B Dabogn gaordwy 3920,

&

(€ 28 IBIPVBYTOS od BOBRYR), WY TL) IS I3 0 IO2V.

@

(d) SR dRveres ‘aé—méﬁe}abq 3920.

i
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.
Third Semester
SECRETARIAL PRACTICE
(Revised)
Three hours Maximum : 80 marks
Answer all questions subject to the internal choice.

* Question No. 13 (Case Study) is compulsory.

SECTION A - (10 x 2 =20 marks)
Answer any TEN of the following questions :

Uems B3R ajziﬁ@r? V3020 :

fa)  Who is a part-time secretary?
285298 5200 B8 oo odTcH?

tb)  Can a director be appointed as Secretary?
F0IVad DeSee BBy FIODETBE 03N SeoTTonw@OEE?

(¢} What is Statutory Company?
B?;Za’aﬁwdméo?u’&) D0T3CeRD?

{dj  What is Table A?
ﬁwes-%ﬁ—ea 0B TeRO?

‘el What do you mean by qualification shares?
¥EE T Bedongorndemy?

) When statement in lieu of Prospectus is to be prepared?
S0 TFad wen BeYT a’gs@i odszen 3a3dy mwﬂamgd?

(¢} What is Agenda of the meeting?
3o aRab B3 H0BTeRH?

fh)  Whom do you call as Managing Director?
;%;Sr%w‘ﬁ NBeeBTFor cnobdd\)cl 53030907
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(i)  What is Motion?
2038 Hoderdd?

) What do you understand by Minutes of meeting?
32303> 908332 STD H0TTEDO?

(k) What is Extra-ordinary General Meeting?
2BeR 33E THTN 3t Kordesy?

() Expand:

DRriga), D300 :
() AGM
(i) MOA

SECTION B - (3 x 5 = 15 marks)
Answer any THREE of the following questions :

Wewar3 Soeth BBYIT GO0

Distinguish between Public company and Private company.
FHTEWT BoB ) Weh BB WHY JFYANYE, WD,

What are the rules/restrictions relating to alteration of Articles of Associaficr- |

D3 %%’,;j‘?ﬁ’*’é wane E)’%Iﬁ%&.}{ 365%3% Inroment A00E oS/ Queerned Glnim)Y

Explain briefly the conditions/rules for the issue of Prospectus.
BOodb BTV QeBon BRBIROREET F0T/ HODZONYRY, Boggmen L:DA0.

What are the circumstances under which company secretary s tersminated:

FOZR aamzf"cjé?moa’xgl BeZ0m073 DS DIEOS RO NTIa?

When the director of the company has to vacate his office?

AT er P 3, P, 0dmar S0 SnBWesrLIE?

Briefly explain the requisites of a valid meeting.

&)odaaﬁozoci@:iwab @‘sﬁ%ﬁ @oéﬁ@;e\&i RogBesoN =020,
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SECTIONC - (3 x 15 = 45 marks)

Answer any THREE of the following questions. Question No. 13 is compulsory
{Case Study) :
Wezard Saeso 23N ev300. I3 zoaj 13 B0 (FFTYeo ¥ 0DV) :

b

8.  Define the term Company Secretary. Explain the various duties of a company
secrstary.
F0I Fa0hrESe 598 QeRD. BT VLT 5?3?;%71%353% NS00,

Y What is Public Limited Company? Explain the steps involved in formation of
public limited company.
TITEBAT 0B BoBA HoBBeRO? WY, T HBTIN WBIFOZ et SOsmfaigi Q3020.

10, What are the procedures to be followed by the Secretary in connection with the
alteration of Domicile clause of Memorandum of Asscciation?

V00D Feded Goma&z{ WBRTH SREN FabEEBrain R ORteRtA e r Al @abrie}ﬁ%

253820,

Define the term Director what are the various ways by which Director is
appointed.

il T T, QeRD, eﬁzs‘aﬁmd de0no3 &maﬁﬁe}aﬁ% 3920,

12, What is Annual General Meting? Explain the duties of a Secretary relating to
Annual General Meeting.

TOXET UDE Topesm mzd OWBeR0? @d% ToWORIToZ  HOLEBBe N NS &Res0
’aa’rajéri%fzd\)qc‘,’)zﬁa%&

I3 Case Study (Compulsory) :

faj Mr. Chirag is a member of the Bharath Chemicals Ltd. due to some

personal work, he is unable to attend the shareholders meeting which will
be held in the next month. He wants to appoint Mr. Harish a non-member
as a proxy to attend the meeting on his behalf. Can he be appointed as
proxy to attend the meeting? Comment.

(b) The Registered office of the HONEWELL COMPANY LTD. is situated at
Bangalore, due to some reasons wish to shift its Registered office to Japan.
State the provision.

¢} A company with a paid-up share capital of Rs.10 crores, appoints
Mr. Reddy, a Chartered Accountant as its whole time secretary. Is this
appointment valid? Give reasons.
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3300 WG oD (Tw0dmeNcIZT) |
(@) Q0. WOt WS P03 BT Fomob VI OB, 3000 3origy FBoIVT FoBACL
3edomesd Rt Fodpond &$0ddT FORRYTOSEO0B 3BO IPYR Tewd  wridd
FGDCTDY,; $TOT ABF BT Q. BOEZ A[TIY WBS Z3AP0dN Beod BT HTN
338 9By WOHTOIVT. JMBT . aa’&eédz&zl Sewy 3Pt mmusrio
BYRWBITET? 23320,

(b) @IS FoB AAESE VBT 8000003 Feed 2WongpdTIT, BO$PROBY FaU LaNnYors
SL0m003 ﬁejebojomd oIy 5;%036 FooEen WobATIZE. eoomosmd 3920,

(c)  wom> BoBIoD I3 wommey 10 b CRTI0N BB, WORFBF 950 088ces
0. déﬁoﬁodéﬁ% TPERFRD ToRR Fo0deRBr0bord BeSOT SRBeRNE. Ty JeSoFes
nRBE3TNE0? 0N FRBO.
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THIRD SEMESTER B.Com. DEGREE EXAMINATION, NOVEMBER 2018
(Revised)

BASIC KANNADA
(New)
3 Hours] _ [Max. Marks: 80
: o ) OB DI MOTEREOYT.

a) ‘eRT éégddra EFT FWTTR' &,0050 mwdz):gwa& QFWORD. 15
) ‘

b) 'SNOT BTWONY ewvwd’ W,uorTd geds dures JTOINYT 236 z’oecsdweﬁm
xoz%eéaéoodrmmodojoe ? TORO. :

Bz adc#& &wwsé WBOH 2 x 10 = 20

a) To.C30. To0ToEE0.

b) zs:gtsa.

c) s

£

d) @BEL T,W0TT TT03.

e 3

T .
jac]

a) I T DOTTeI> 9 WO, TR RORT T OFLNTTY DTOR0. 15
o)
b) Tuedw BT O BONNYRY, D=[OR0.

a) WO TT, HOTIER ? TS OFLNTTY NTTTHIROOT DTORD. 15
Zlaten)
b) ToeEBFDe B, W) Wowed T, ACRT, OBLNYRY LUTRBTBOIR0AR DBO0.

B FINT BINor omd w598, T3Y, ¥VUZORO. 15

a) ‘©8® BeFperw’ @wocﬁaﬁ&g{ @f)ﬁcxbwd IR 3,005 mse)g@ozj Gﬁ&ﬁ&%&a@{)@)ﬁd ?
b) ¥R ed ner’ B wors 3¢ 03RO ?

©) ‘&0 @080 QLR RO SSYBIOTO WRTRTEBTO 203 39, UWET T AIRT ?
d) ©.09. 08, OFT FHpeor SIS 2

[P.T.O.




e)
f)
g
h)
i)
)
k)
1)
m)
n)

0)
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WO BRBUCRE, TOTD HTUWEE’ 0T TORIYT ?

Toe3000030T BoT30R) BITERD ?

To. 3R, Jo0RTTO KT BRE CTRIJTD ?

éd@@ RRCNOTDTORT &Y 5@@? oINPT ?

B0.33%. DOOIVFT O3S DBNWR,OONTY, IITW 59,73, TWITINTTO ?
Toemd WROTETY' AR 03RT 998 FT,05 BOFOT ?

TordEs, BFW TYIe o cINPT ?

'BRBT T, T3 IFFe WonToNd ?

32363 T3, QOTTERD ?

DRRD T, 2OTTED ?

TOTT, DOTTE0 ?
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THIRD SEMESTER B.Com. DEGREE EXAMINATION, NOVEMBER 2018
KANNADA KALI - BASIC
(Revised)

(Bhaashe Mattu Barahada Shuddhige Gamana Kodalaaguvudu)

T-me: 3 Hours] [Max. Marks : 80

1 Obba PUC vidyarthi tanna Hiriya snehitana hattira engineering kaalejina bagge

vicharisuvudannu sambashaneya rupadalli bareyiri. 15
Or
Kelagina padagalannu Upayogisi sarala vakyagalannu rachisiri:
1. Naayaka 2. Raajya
3.  Gadiyaara 4. Makkalu
5. Tarakaari 6. Raste.
Kelagina Prashnegalige sarala reetiyalli uttarisiri. 15

1. Dasharathanige estu makkalu?

2. Raamaayanavannu baredavaru yaaru?

3. Varshada modala tingalu yaavudu?

4. Karnaatakada Raajadhaani yaavudu?

5. Karnaataka Vishvavidyaalaya ellide?

6. Seeteya tandeya hesarenu?
Or

Kelagina gunavaachakagalannu balasi vaakyagalannu rachisiri:

1. Kempu 2. Sundara

3. Jaana 4. Kappu

5. Dappa 6. Churuku

Batte angadiyalli batte tegedukolluvaga nadeyuva sambaashaneyannu rachisiri. 15
Or

Kelagina sankyegalannu upayogisi vaakyagalannu rachisiri:

1. Eradu 2. Naalku

3. Eelu 4, Ombattu

5. Hadinaaru 6. Nooru.

[P.T.0.
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Kelagina vaakyagalannu englishge anuvaadisi:

1. Indu modalaneya somavaara.

2.  Nanna hattira naalku pennugalive.

3. Nanage ondu karavastra beku.

4. Ravige kathe pustaka Ishta.

5. Nanna tande urinalli illa.

6. Nanna hattira ‘Kannada Kali’ pustakavide.
Or

Kelaginavugalannu Koodisi bareyiri

1. Namma + amma =

2. Nanna + avanu =

3. Akkana+annu=

4. Maneya+alh =

5. Avala+ appa=

6. Pustakada +inda =

Beekaada eradakke tippani bareyiri.

1. Shaale

2. Taayi

3. Naayi

Bitta stala tumbiri

1. Nanna taayiya hesaru endu iruttade.

2. Haalu kudiyuvudu aarogyakke

3. Nanage banna ishta.

4. Ippattu + naalku=

5.  Dehali namma deshada

6. Nanage obbalu tangi

7. Aakalige Kaalugalive.

8. Karnaatakada praadeshika Bhaashe

9. Nanna tamma nanaginta naalku varsha

10. Nannu collegige bassinalli

11. Nanna amma chennagi aduge

12. Ravivaara collegege

15
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THIRD SEMESTER B.Com. DEGREE EXAMINATION , NOVEMBER 2018

(Revised)
PRINCIPLES OF MARKETING

Time : 3 Hours]

All Sections are compulsory.
Q. No. 13 is Compulsory.

Section A - (Marks: 10 x 2 = 20)

- Answer any ten of the following :

a)
b)
c)
d)
e)
f)
g
h)
i)

J)
k)
)

What is Market?

What is demarketing?

Mention any two functions of marketing.
What is market segmentation?

What is Product Life Cycle (PLC)?
Expand i) ISO ii) ISI

What is Trademark?

What is Penetration Price?

What is Sales Promotion?

What is Direct Marketing?

WHat is pricing?

What is the main difference between packing and packaging?

Section B - (Marks: 3 x 5 = 15)
Answer any three of the following.

Distinguish between market and marketing.

Briefly explain the functions of marketing.

Explain the importance of market segmentation.

Explain why new products fail.

Explain the importance of pricing.

Explain in brief the functions of branding.

[Max. Marks : 80

[P.T.O.
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Section C — (Marks: 3 x 15 = 45)

Answer any three of the following,
including . No. 13 which is Compulsory.

Explain the importance of marketing.

Explain the bases of market segmentation.

. Explain the stages of Product Life Cycle.
. Explain the factors vaffecting pricing decisions.
2. What is channels of distribution? Explain the different types of channels of distribution.

. Case Study (Compulsory):

You have developed a new electric car which has more battery back-up and gives good mileat
to the customers. It has other features like sufficient space, attractive interior and exter:a
outlook.

In the light of this, answer the following questions.
a)  How do you differentiate your electric car from other rival products?
bi Which method of pricing you prefer?

¢! How do you advertise your new electric car?
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Section A - (Marks: 10 x 2 = 20)
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Section C — (Marks: 3 x 15 = 45)
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THIRD SEMESTER B.Com. DEGREE EXAMINATION, NOVEMBER 2018
CORPORATE ACCOUNTING:-I

Paper1
(Revised)
Time : 3 Hours] [Max. Marks : 80
. Attempt the Sections as per internal choice.

Simple calculators are allowed to be used.
Question No.13 is Compulsory.
Section - A (Marks: 10 x 2 = 20)

1. Answer any ten of the following :
a) What do you mean by issue of shares at discount?
b) What is marked application?
c) What is oversubscription?
d) What is Debenture?
e) State any two methods of redemption of debentures.
f) What are Divisible Profit?
g) Write any two examples of intangible assets.

! h) What is unclaimed dividend?

1) X Ltd. was incorporated on 1.8.2017 to take over the business of Y Ltd. with effect from
1.4.2017. Accounting year ends on 31.03.2018. Calculate Time Ratio.

J) How do you allocate following expenses?

1) Rent and Rates ii) Carriage outward
k) State two types of reconstruction.
1) State any two causes for internal reconstruction.

Section ~ B (Marks: 3 x 5 = 15)

Answer any three of the following:

Distinguish between shares and debentures.
Write specimen of Note No. 1 at share capital with imaginary figures.
A Co. Ltd. issued 5,000 10% debentures of Rs. 100 each. Pass issue entries when

a) Debentures are issued at 5% discount and redeemable at par

b) Debentures are issued at 5% discount and redeemable at 10% premium.
[P.T.O.
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5. Moon Ltd. issued 10,000 equity shares of Rs. 10 each. The issue 27 1==s¢ s2zres were underwritten
as follows:

P-40%, Q-40% and R-20%
Marked application of underwriters are
P-1500, Q-800 and R-700.

Hbwever the company received the applications for 8000 shares cniy. Determine the liability o
underwriters.

6. Moon Ltd. was incorporated on 1.8.2017 to take over the running business of Star Ltd. fror
1.4.2017. The statement of profit and loss for the year ended 31.3.201:

Particulars Amount Rs.
Gross profit : 80,000
Expenses -
Salaries 24,000
Rent 8,000
Advertisement 8,000
Selling Expenses 28,000
Directors Fees 4,000
Total Expenses 72,000
Net profit 8,000

The sales ratio for pre and post incorporation was 3:5. Find out profit prior to and afl
incorporation.

7. ABC Co. Ltd. decided to go for internal reconstruction on the following terms:

a) 50,000 equity shares of Rs. 10 each are to be reduced to equal number of shares of Rs. 4 e:
fully paid.

b) 10,000, 9% preference shares of Rs. 10 each are to be reduced to equal number of 9% prefere
shares of Rs. 6 each fully paid.

¢) 100, 10% debentures of Rs. 500 each converted into 500 6% debentures of Rs. 50 each.

d) The debit balance of profit and loss account of Rs. 25,000 and preliminary expense
Rs. 30,000 were to be written off. ’

e) The value of machinery and building were written down by Rs. 95,000 and Rs. 1,00
respectively.

Pass the Journal Entries.
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Section - C Marks: 3 x 15 = 45)

Q.No.13 is Compulsory. Answer any two of the remaining.

Basappa Company Ltd. issued to public 20,000 equity shares of Rs. 10 each. The amount is
payable as follows:

On application Rs. 3
On allotment Rs. 4
On First call Rs. 2
On Final call Rs. 1

Company received in all 22,000 applications for shares and it is decided to refund the excess
application money. All the money duly received except one shareholder holding 800 shares did

not pay First and Final call money.

Pass the Journal Entries.

Raju Co. Ltd. redeemed 10,000 12% debentures of Rs. 100 each at par paying cash in five yearly
equal instalments by drawing lots at the end of year beginning with 31.12.2013.

Pass the journal entries assuming that interest is payable every year on 31st December.

From the following information furnished by Maltesh Trading Company, prepare statement of
profit and loss as per schedule VI Part II of Company's Act (vertical form)

Particulars

a) Sale of goods

bj  Sale of services

¢! Excise duty

d) Interest income

e¢) Dividend income

f)  Opening stock of raw material
g) Purchase of raw material

h) Closing stock of raw material
1) Purchase of stock in trade

7> Employees Benefit Cost

k) Deprecition

I} Profit on sale of fixed assets
m) Profit on sale of subsidiaries
n) Tax expenses

Rs.
3,00,000
2,60,000

10,000
30,000
15,000
1,00,000
2,50,000
50,000
60,000
80,000
20,000
10,000
20,000
30,000

[P.T.O.
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11. Ravi Company Ltd. was formed on 1.7.2017 to take over the business of Shankar Traders with
effect from 1.4.2017. The statement of profit and loss for the vear ending 31.3.2018 is given

below:
Particulars Amount Rs.
Gross Profit 9,60,000
Expenses
'Salaries and Wages 2 56,000
Rent and Rates 67,200
Commission on sales 81,600
General Expenses 76,800
Directors Fees 28,800
Advertisement 24,000
Audit Fees 16,0060
Depreciation 1,02,400
Interest on debentures 28,800
Interest to vendor (upto 30.9.2017) 16,000
Total Expenses 6,97,600
Profit (Gross Profit—-Expenses) 2,62,400

Additional Information:

a) The sales for pre—incorporation period was Rs. 3,84,000 and sales after incorporation perioc
was Rs. 7,68,000.

b) Actual rent per month was Rs. 5,000.

Prepare a statement showing profit prior to and after incorporation.

12. The following is the balance sheet of Oswal Co. Ltd. as on 31.3.2018:
Particulars Note Amount
I.  Equity and liabilities
Shareholders Fund:

Share Capital 1 12,560,060
Reserve and Surplus 2 (-1,45,000
Current Liabilities

Trade payables (creditors) - 30,000
Bank overdraft - 20,000

Total 11,565,000
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I Assets
Non-current Assets
Tangible Fixed Assets 3 1,73,000
Intangible fixed assets (Patents) - 8,50,000
. Current assets
Inventories (stock) - 55,000
Trade receivable (debtors) - 76,500
Cash - 500
Total 11,55,000
Notes: -
1. Share Capital : Authorised
10,000 6% preference shares of Rs. 100 each 10,00,000
10,000 Equity shares of Rs. 100 each 10,00,000
Subscribed Capital
7,500 6% preference shares of Rs. 100 each fully—paid 7,50,000
5,000 Equity shares of Rs. 100 each fully-paid 5,00,000
Total 12,50,000
2. Reserve and Surplus: -
Discount on issue of shares (—) 18,000
Profit and Loss A/c (Debit Balance) (=) 1,15,000
Preliminary Expenses (=) 12,000
Total (-) 1,45,000
3  Tangible fixed assets T
Leasehold premises 1,30,800
Plant and Machinery 42,200
Total 1,73,000

The company suffered heavy losses and was not getting well. The following scheme

of reconstruction was adopted.

a)  The preference shares be reduced to an equal number of fully—paid shares of Rs. 50 each.

b) The equity shares be reduced to an equal number of fully—paid shares of Rs. 25 each.

[P.T.O.
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¢) The amount so available be used to write off Rs. 30,800 from the leasehold premises, Rs.15,000
from stock, 20% from Plant and Machinery and Sundry debtors and balance available
from patents.

Pass the journal entries and prepare the revised balance sheet after reconstruction.

Case Study (Compulsory):

Arpata Company Ltd. issued 20,000 equity shares of Rs. 10 each which are to be underwritten
byXandY.

Total applications received 16,000
Marked application : X - 2400 and Y - 2400
Determine underwriters liability in the following two cases:

a) When two underwriters underwrite entire issue

X - 60% and Y - 40%
b) When two underwriters partially underwrite the issue as follows:
X - 30% and Y - 40%

Comment on the liability of underwriters.
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THIRD SEMESTER B.Com. DEGREE EXAMINATION, NOVEMBER 2018
SECRETARIAL PRACTICE '
(Revised)

Time : 3 Hours] . IMax. Marks : 80

o
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Answer all questions subject to the internal choice.
Question No. 13 (Case Study) is Compulsory.

Section - A (Marks: 10 x 2 = 20)
Answer any ten of the following :

a) Who is a Pro-tem Secretéry?
b) Define company secretary.
¢) What is a registered company?
d) What is unlimited company?
e) Give the meaning of articles of association.
f) What is statement in lieu of Prospectus?
g) Who is a wholetime director?
h) Who is an auditor?
1) Expand the following:
1) MRTP ii) SEBI
J) What is point of order?
k) Who is a proxy?

1) What are resolutions?

Section — B (Marks: 3 x 5 = 15)
Answer any three of the following.
Explain the statutory duties of Company Secretary.

What are the functions of Promoter?

What are the documents to be filed for incorporation of a company?
Distinguish between Director and Managing Director.

Explain the various methods of ascertaining the sense of meeting.

What is Directors Report? State its contents.
' [P.T.O.
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Section — C (Marks: 3 x 15 = 45!
Q.No. 13 is Compulsory. Answer any two of the remaining questions.

S "The Position of a Company Secretary is full of duties and responsibilities and not a sinecure
one" — Amplify.

9. &xplain the various kinds of companies.
10. What is Memorandum of Association? Explain its contents.
11. Define the term director. What are his liabilities?

12. What is Statutory Meeting? Explain the duties of Company Secretary before, during and after
the meeting.

13. Case Study (Compulsory)

After obtaining the certificate of incorporation from the registrar of joint stock companies, the
promoters and directors of a public limited company proceed to collect the required amount of
capital to commence the business of the company. The Public Conipany can raise the required
amount of capital by approaching the public or without approaching the public. The promoters
and directors of the company are not sure enough to collect the minimum required capital privately.

With reference to the above, answer the following questions:

i) How the Public Company collects the required amount of capital to commence its business!
" ii) What is the minimum amount of capital a Public Company has to collect?

iii) Within how many days a Public Company has to collect the minimum required capital?

iv) What type of agreement a Public Company enters into to collect the minimum amount d
capital?

v) What will be the effect if the Public Company fails to collect the minimum required capital
within the stipulated period? 3
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THIRD SEMESTER B.Com. DEGREE EXAMINATION, NOVEMBER 2018

COMPUTER APPLICATIONS-II

(Revised)
Time: 3 Hours] [Max. Marks: 80

Answer all questions of different Sections, according to internal choice.
Question No.13 is Compulsory.

Section - A (Marks: 10 x 2 = 20)

1. Answer any ten questions from the following. Each carries two marks.
a) Néme any two word processors.
b) What is the function of word wrap?
¢) Define Pagination.
d) Differentiate between Save and Save As.
e) What do you mean by Bookmark?
f)  What is Macro?
g) Give the meaning of Presentation.
h) What is Slide Transition?
i) Define Radio button with example.
j) Who developed HTML? Expand HTML.
k) What do you mean by Open System?
1)  What is Structured Analysis?

Section — B (Marks: 3 x 5 = 15)
Answer any three of the following.

o

Explain the advantages of MS-Word 2007.
3. Explain the steps to find & replace any text in MS-Word.
4. Discuss the applications of MS-PowerPoint 2007.

| 5. Explain the "illustrations" group of INSERT tab in MS-Word.

[P.T.O.

D C—
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11.
12.

13.
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Explain any five "table" tags in HTML.

Define System. Explain the various activities of System Analyst.

Section — C (Marks: 3 x 15 = 45)
Answer any three questions including Question No.13 which is Compulsory.
Explain in detail any three groups in "Page Layout" tab of MS-Word 2007.
Explain the "Font" group & "Clipboard” group in MS-PowerPoint 2007.
Discuss the steps to create Mail Merge in MS-Word 2007 with a neat diagram.
Explain the phases of system development life cycle.

Write an HTML Code to create Online Job Application Form.

Write short notes bn any three of the following: Bx5=1
a) Line spacing option in MS-Word

b) Header & Footer group in MS-Word

¢) Different presentation views in MS-PowerPoint 2007

d) Structure of HTML Program

e) Open and Close System.
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COMMERCIAL ARITHMETIC
(Revised)

Time : 3 Hours] [Max. Marks: 80

*

10.
11.

12.

13.

14.

15.

Mathematical tables will be supplied on request.
Simple calculators are allowed.

Section - A (Marks: 10 x 2 =20)
Answer any ten of the following.

If log5 = 0.6990, without using logarithm table, find log 16.

Define 'percentage’ and 'discount’.

Find 4% of 8% of 12% of 1,50,000.

What is delcredere commission?

Explain profit with example.

In what time will a sum of money double itself at 8.5% p.a. simple interest?
Explain effective rate of compound interest.

What is installment buying?

Define depreciation. ‘
State the difference between annuity due and immediate annuity.

Find the mean proportional to 112‘ and 252.

If 30 articles cost ¥ 316, how many articles can be bought for T 790?

Section - B (Marks: 3 x 5 = 15)
Answer any three of the following.

A litre of spirit containing 11% water was mixed with 3 litres of spirit containing 7% water.
Find the percentage of water in the mixture.

The S.I. on T 1,600 at 2% p.a. for a certain period and that on T 500 for 5 years more at
4% p.a. S.I. are together ¥ 256. For what periods were the interest calculated?

A refrigerator can be bought for ¥ 15,000 or ¥ 3,000 down payment and 11 monthly
installments of % 1,200 each. Find the rates of simple interest.

(P.T.O.
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17.
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19.

20.

21.

22.

23.

24.
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If an articie sold for ¥ 25,000 incurred a loss of 20% at what price should it be sold to ea
profit of 20%?

A person invests ¥ 1,000 at the end of each year at 5% C.I. p.a. How much would he get ba
at the end of 10 years?

If 15 men can do a job in 36 days, how many women could do it in 30 days, if 8 women can -
as much work as 2 men in the same time?

a)

b)

a)

b)

a)

b)

a)

b)

a)

b)

a)

b)

Section — C (Marks: 3 x 15 = 45)
Answer any three of the following.

Simplify using Logarithm tables.

. 0.7856 x 2876
0.02345 x 96.34

A sum of money amounts to ¥ 1210 in 2 years and to ¥ 1464.10 in 4 years at compour
interest. Find the sum and rate of interest.

Find the sum borrowed by A at C.I. if he pays an amount of ¥ 88080 at the end of 3 yea
interest being 5% p.a. for first year, 5.5% p.a. for second year and 6% p.a. for third yea

A machine costing ¥ 5,000 reduces in value at the end of 4 years at a certain C.I. -
< 4,000. What will be its value at the end of 12 years? '

A machine worth of ¥ 3,00,000 is purchased on installment plan in which 6 equ.
installments including compound interest at 5% are payable. Find the amount of annu
installment.

In how many years will ¥ 7,000 amounts to ¥ 10,000 at 5% C.I. p.a. added half yearly?

An agent charges 2.5% commission on cash sales and 4.5% on credit sales and theret
earns 3.25% on the total sales. If cash sales are % 50,000. find credit sales.

Tea worth ¥ 96/kg is mixed with another tea worth Z 116/kg. How should the two sor
of tea be mixed so that by selling the mixutre at % 126/kg the dealer may gain 20%?

A dealer buys two articles for ¥ 1,250 and sells them at equal selling prices. He the
finds that he gained 20% on one article and lost 20% on the other. Find the cost of eacl

In two years a sum of ¥ 6250 amounts to ¥ 8123 at what percent of C.I. p.a.

The income of A, B and C are in the ratio 7:9:12 and their spendings are 8:9:15. If
saves 1/4 of his income, find how much B saves if his income is ¥ 20,160.

A and B can do a job in 8 hours. B and can do it in 12 hours and A and C can do it in. 1
hours. How long will each of them take to do it separately?
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THIRD SEMESTER B.Com. DEGREE EXAMINATION, NOVEMBER 2018

BUSINESS STATISTICS
(Revised)

Time : 3 Hours]

II.

[Max. Marks: 80

Non-Programmable Simple Calculator is allowed.

Section A - (Marks: 10 x 2 = 20)

Answer any ten of the following.:

a) State any two limitations of Statistics.

b) Define Class-limits with an example.

¢) Name the different types of classification.

d) What is meant by 'Caption’ and 'Stub'?

e) Using which graphs Median and Mode ean be found?

f) If Arithmetic Mean = 10 and Median = 12, then find Mode.

g Write the formula for 'Range' and 'Coefficient of Range'.

h) Find the Arithmetic Mean and Geometric Mean of '20" and ’40'
i) D1st1ngu1sh between 'Questionnaire' and 'Schedule'.

j If X = 10 and G2 = 4, then find Coefficient of Variation.

k) If Coefficient of Skewness = 0, then comment on it.
) Write the formula for Kelly's Coefficient of Skewness.

Section B - (Marks: 3 x 5 = 15)
Answer any three of the following:

2. Distinguish between 'Primary data' and Secondary data'.
Secondary data?

What are the sources of

3. Tabulate the following information regarding population of a locality according to:

1) Sex : Male, Female
11) Literacy: Literate, Illiterate ,
1ii) Age group: 0 — 15, 15 — 30, 30 — 45, 45 — 60, 60 and above.

4. Represent the following data by Percentage bar diagram.

Item of Expenditure Expenditure in Rupees
Family 'A' Family 'B'
Food 1400 ' 1600
Clothing - 800 1600
Education 300 800
Rent 1000 1200
Fuel 400 400
Others 400 1600

[P.T.O.
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For the following data, draw Histogram and find Mode graphically: ‘
Class: 0-4 4-8 8-12 12-16 16 - 20 20 - 24
Frequency: 8 14 18 24 20 10

If the average weight of 25 boys is 40 Kgs

find the combined mean weight of all the boys together.

Find Karl Pearson's Coefficient of Skewness if X = 40, Variance 02 = 16 and Mode = 38

and comment.

Section C - (Marks: 3 x 15 = 45)

and the average weight of 30 boys is 42 Kgs,

hree questions, of which Case Study analysis (Q. No. 13) is Compulsory.

8. Find Mean, Median and Mode for the following data:
Class: 0-10 10- 20 20 -30 30 -40 40 - 50 50 - 60
Frequency: 18 30 45 32 20 10
9. a) Name the different types of Positional Averages.
b) Calculate D,, Dg and Pg; for the following data:
Class: 0-20 20 - 40 40-60 | 60-80 [ 80-100
Frequency: 5 15 20 16 4
10. Calculate Mean deviation from Median and Mean deviation from Mode for the following data:
Class: 10 - 20 20 - 30 30 - 40 40 - 50 50 .- 60 60 - 70
Frequency: 10 15 25 30 10 10
11. Calculate Coefficient of Quartile Deviation and Bowley's Coefficient of Skewness for
the following data:
X: 25 30 35 40 45 50
f: 17 22 35 20 10 6
12. a) For the following data, form a frequency distribution with class intervals
0-10, 10-20, .......
52 | 15 | 650 | 21 37113 | 10 38| 24 | 23
111 3 1 30|35 | 4829 | 47 | 20 | 02 | 59
441 20 | 36143 | 28|34 | 34 | 27| 26 | 08
38| 33 | 26| 22 33136 | 14 | 41| 49 ;| 28
41 | 18 | 12| 29 3312111925} 05 |39

b) For the frequency distribution formed for the above data, calculate Arithmetic meat
and standard deviation and find coefficient of variation.




3 1213 - C53 - IIISC - R - N - 18

13. Case Study analysis (Compulsory):

Following data shows the markét value of shares of Company A and B in 5 days.

Company A

Share Price 30 40 25 32 33
’ Company B .

Share Price 26 32 20 22 30

a) If average is the criterion, which Company's shares are better?

b) If consistency is the criterion, which Company's shares are consistent?

-
4

[
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THIRD SEMESTER B.Com. DEGREE EXAMINATION, NOVEMBER 2018
HUMAN RESOURCE MANAGEMENT

(Revised)
Time : 3 Hours] [Max. Marks : 80

Answer all questions according to internal choice.
Question No. 13 (Case Study) is Compulsory.

Section A — (Marks: 10 x 2 = 20)
L. Answer any ten of the following :

a) What is HR Planning?

b) What is promotion?

¢) What is Job Description?

d) Expand:i) QWL ii) HRD.

e) What is incentive?

f) What is Refresher Training?

g State any two objectives of Training.
h) What is Piece Wage System?

1) Write any two advantages of Induction.
j) What is Placement?

k) What is Motivation?

1) What is Trade Union?

Section B - (Marks: 3 x 5 = 15)
Answer any three of the following:

2. Write any five objectives of HRM.

3. What are the advantages of training to employées?
4. Briefly explain the objectives of induction.

Write five advantages of time wage system.

6. What are the advantages of Performance Appraisal?

7. What are the objectives of Reéruitment?
[P.T.O.
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Section C - (Marks: 3 x 15 = 45)
Answer any three of the following.
Q.No. 13 (Case Study) Compulsory.

8. Explain briefly functions of Human Resource Management.

9. . Explain the steps involved in scientific selection.

10. Explain the need for H.R. Planning.

11. What are essential features of Sound Wage Policy?

12. What are the different methods of Performance Appraisal? Explain.
13. CASE STUDY (Compulsory):

a) Write an application for the post of Accountant to the H.R. Manager.

'b) Mr. Harish is eligible for promotion to the post of Regional Manager in the Bharath Chemica
Ltd., but reluctant to undergo training for promotion. Advise him of the need for traini

¢) In Chirag and Company, the workers are producing far less than what they can. Wh
asked by the production manager, they say that they do not want to compromise on quali
for the sake of quantity. Discuss.
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THIRD SEMESTER B.Com. DEGREE EXAMINATION, NOVEMBER 2018
(Revised)
ECONOMICS
(Monetary Economics)

Time : 3 Hours] [ Max. Marks : 80

1.

A A

=3

All sub-questions should be answered continuously.
Answer all the three Sections.
Section - A (Marks: 10 x 2 = 20)

Answer any ten of the following :

a) Mention any two dynamic functions of money.
b) What is meant by base year?

¢) What is M,?

d) IfM =%2,000,V =235 T=7%1,000units, find out P.
e) What is an Index Number?

f) Mention any two measures to contro! inflation.
g) Give the meaning of capital market.

h) What is meant by Fixed Deposit?

i) State the meaning of credit creation.

J)  What do you mean by nominal interest rate?
k) Name the present Governor of R.B.1

D)  What is reverse repo rate?

Section - B (Marks: 3 x 5 = 15)
Answer any three of the following:

Write a note on supply of money.

Explain the different causes of inflation.

Explain the assumptions of Fisher's Equation.
Explain the different types of Index Numbers.
Explain the features of developed money market.

Discuss the various objectives of monetary policy.

Section ~ C (Marks: 3 x 15 = 45)
Answer any three questions. Question No. 13 is Compulsory.

Define money. Explain its functions.

‘Critically examine the Cambridge Equation.
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10. How do you construct price index number? Find out the CPIN from the following data:

S.No. Commodities Price in the Price in the
Base Year (Rs.) Current Year (Rs.)
1 Rice 20 60
. 2 Wheat 15 45
3 Sugar 30 60
4 Edible Oil 45 90
5 Milk 15 60

11. Discuss the features and defects of Indian Money Market.

12. Explain the different methods of Credit Control of the Central Bank.

13. Case let:

Read the following case study and answer the questions given below:

Suppose there are five Commercial Banks in India viz. SBI, PNB, Canara Bank, Corporatior
Bank and Vijaya Bank.

The SBI has received initial deposit of Rs. 20,000. The RBI has fixed CRR at 10%.

Questions:

a) Explain the process of Credit Creation.
b) What is the effect on Credit Creation if the RBI increases CRR to 20%?

¢) What are the limitations of Credit Creation?
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